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33661114 Shtnwh; 0,005% 24y 9L hwin 450 6000 2700,0
33661120 Unphuh hhnpnpinphin 1%-14; AL huwn 450 1200 540,0
33661123 Sphubwhpnht 2%-14; 9L hwiwn 0 500 0,0
33661136 “Hhwqgbiugund 10dg/24; 9< hwin 100 2000 200,0
33661135 Uhnwgnyw 154g 34 q< hwin 428 500 214,0
33691176 Upnbwyjug 50udq/50; < hwin 169000 140 23660,0
33691176 Upnbiw)wq 50dq/500; uu huin 169000 14 2366,0
33611350 Uulnpphuwppnt 5%-54; Q< hwn 0 12000 0,0
33611350 Uulynpphuwppnt 5%-20] Q< hwin 35,5 12000 426,0
33611130 Uinpnujhtih unybun (nidnype 0,1%-14; 9< hwwn 55 3500 192,5
33621160 Udhunywwpnbiwppent 250 9< hwn 1100 990 1089,0
33631370 Uwnpwlniphnuwh plighjusn 10udg/d-2,50; < huwin 309,9 2000 619,8
33661183 Shuwnpwhyniphnuwh phighywin 5uq/2,54; < hwwn 0 1000 0,0
33661184 Shuwwpwyniphnuh plighpun 5dg/2,54; < huwwn 1008 500 504,0
33661115 Pruwyhywlunht 44; < hwwn 214,8 1200 257,8
33691138 Siniling 5%-2500 < hwwn 2459 1200 295,1
33691138 FHynilng 5%-5004; < hwn 255,9 4800 1228,3
33691138 Syniyng 40% 5u; < hwtn 0 3000 0,0
33691139 Syniyng 40% 54; 9L huwwn 37,97 1500 57,0
33661153 Hipuwdbipugnt wilwlwph 10d) Q< huin 0 40 0,0
33661153 TMipuwdtipugnt wluwlugphy 104 Q< hwwn 610 38 23,2
33661153 Hipuwdbinwignl 4dg/dp-1; 9< huwwn 23,4 10000 234,0
33671130 WhpbUhhrypusdhts 1%-10, < | hum 20,8 40000 832,0
33621400 "oujwuhl 40tq/; 50 < | hwwn 580 1500 870,0
33611170 Hpnunwidipht 40uq/d; 24 < | humn 36,8 2500 92,0
33611170 “pnunwdbipht 40dg QL huwin 6 1200 7,2
33631310 Hhlinbbtwl 75 dq 34 < hwin 67,8 12000 813,6
33651127 “puhghlhuh h/p 100dq 9< hwwn 133,19 1000 133,2
33621760 Euwyuiyppy 10dq < hwn 4,85 15000 72,8
33691202 Ewnunighywin 2500g/A5; 24, < | humn 150 7000 1050,0
33621290 Eujhtbpht /wnpbiwihty 0,12%-10; Q< hwin 80 2000 160,0
33611370 (hwdhu pinphn. 50dq/4d; 10 9L hwn 26,9 5000 134,5
33661113 f¢hnwblnw bwwnphnu 1,0, AL huin 2840 480 1363,2
33661113 fhnwblinw) bwinppnd 1,0q Uu hwn 2840 48 136,3
33691141 pYwdht pdolywljul 9L hwin 0 8000 0,0
33661110 Pgn$ynipwt 2504; G hwwn 0 200 0.0
33661110 handynipwit 2504 gL hww 30000 30 900,0
33661110 hanynipwt 1000 L huwin 7449,9 800 5959,9
33691176 Punndbuwght dndhl 9L hunn 0 480 0,0
33631283 Lhghunwph| 10dg < hwn 12,5 4800 60,0
33661116 Lhnnbwihtih hhpnpinphn 2%-200) < huwin 756 500 378,0




33651138 Lun$inpuwight |- t/h 0.5% 1004 L hwn 0 600 0,0
33651138 Lun$inpuwght |-p b/ 0.5% 1004 9 | huwn 1019.9 200 204,0
33651138 Lun$|npuwghl nhin 500dq, q< hwuwn 78,8 2000 157,6
33611420 _Ywighnudh gyniljntiun 10%-5u) < hwuwn 88 2000 176,0
33691134 Ywihnwh pinphn 4%-20004; < hwwn 468,8 300 140,6
33691213 Hbnwth Ywplwppyuwht Pwlyinbiphwlitip / Lwphub < hunn 0 6000 0.0
33651212 Culjuhuyinwgdwt wlwwnnpuhls 0,54 Q< hwin 550 600 330,0
33621100 <bwuwipht 50000/, 507 < | hwwn 938 16000 | 15008,0
33691814 <hripopuhtyehy oujw 6%-5004; < hwwn 3500 210 735,0
33621610 Uwupwng 10%-4000; hwin 850 350 297,5
33691218 Uwqubighnui wuwwnpuunh nnpwhhnpwn, Ywihnul _ 480 1500 720,0
wuwwnwnwinh htidhhhnpuwin 104,
33691145 Uwqltighnud uny$buin 25% 54| QL hwwn 28,45 8000 2276
33661127 Utinwidhgn| Lwwnphnud 50% =241 Q< hwwn 37,6 40000 1504,0
33611160 Ubiinyinwpuidhn, 5g/d) 24 < hwwn 411 12000 493,2
33691112 Utinpnuhnuwgny 1004 < hwin 199,8 10000 1998,0
33651139 Unguhi]oguwgbh whuwlwrshi 0,5% 54 9L hwwn 1199,9 40 48,0
33651139 U'nguhhg@wgbb 2504) QL hwtn 0 1800 0,0
33691154 Bnhbipun| 1004; < hwn 8650 1000 8650,0
33691154 Snhbpun| 504; q< hwwn 4900 2000 9800,0
33691157 Snnhpuwting 1004, 9< hwwn 0 180 0,0
33691157 Bnnhpuwln 1004; < hwwn 17000 60 1020,0
33691136 Luwuwphnuh pinphn 0,9% 2504, L hwwn 0 36000 0,0
33691136 Lunphnudh pinphn, 0,9% 2504 9< hwwn 221,6 20320 4502,9
33691136 Lwwnphnuh pinphn 0,9% 1004; 9L hwin 215,6 19200 4139,5
33691136 Lunphnuwih piphn, 0,9% 5004 L hwwn 2274 45000 10233,0
33691136 Luwwnphnuwih pinphn, 0,9% 10004} 9L hwin 268,8 24000 6451,2
33691136 Lwuiphnuwih pinphn. 0,9% 30004 G< hwn 0 150 0,0
33691136 Lunnphnulh pinphn, 0,9% 3000d; < hunn 1500 45 67,5
33691129 Stk el llwlhsnt;gl:hgl"nhr"'l‘wlghmdh B < hwn 2274 24000 54576
aseorizg | Verhnih panfin, ““‘"‘2’22{’] S T T 27,3 1200 272,8
]

33691135 Lwwphnudh phljwppntiun 8,4% 20d| < hwin 0 800 0,0
33691136 Lwwnphnuh phlywppntiwn 8,4% 204; 9L hwn 1008 200 201.6
33691133 Lbipwpldwt gnip 30004, Q< hwwn 0 1400 0,0
33691133 Ubipwiplduwts onip 30004 9< hwn 1500 900 1350,0
33621330 Lhybpwidhn. 25%- 24 Q< hwwn 0 1500 0,0
33621330 Uhlbpwidhn 25%- 24 < hwwn 178 280 49.8
33611390 Mbphrynpuht h/p 5%- 1u; < hwin 0 15000 0,0
33611390 Mhphnnpuht h/p 5% 1, A< | hum 22.9 8000 183.2
33631350 Mhwbynipnupnuh ppnidhn 4dg/24 9L hwwn 0 3000 0,0
33631350 Mhujthnipnuhnush ppndhn 4dq/24; G< hwwn 1037,53 1500 1556,3
33631230 Tinyhnnt jnr, 10% 10004 9< | hum 2900 300 870,0
33661170 TNpnlyught /ungnluhty/ 0,5% 2504, Q< hwin 504 120 60,5
33661181 Uun$ynipwli 2500 < hwn 37780 80 30224
33631360 Unipuwdtipnuhnid 2% 50 <L hwn 189,9 2400 455,8
33621730 dbpwwwidpy 0,25% 20 < hwn 100 300 30,0
33621240 Shwtiynpuwiwiht 500d4q 10 q< huwwn 0 3000 0,0
33621730 Shwlnpwiwdh 500d4g 14 9< hwwn 26,9 1800 48,4
33691236 Linpnwhpuiihuh hhnnnpinphn 20dg 14 Qc hwin 107,5 600 64,5
33611100 Oubwpwgn| 20uq 9 | hwm 9.3 30000 279,0
33641100 Opuhunngh |-p SUUAT 14; L hwn 177 4800 849,6
33691191 &nu:bnmwhnbhn/tuhmw‘/Sdl QL huwin 630 400 252,0
33691823 Snpdwnthhn/inisnye 9< lg 350 1200 420,0
33651245 Stighuwphl 1000dq 9% | huwwn 0 150 0,0
33651245 Shidghwwpht 10004g 9 hwwn 9999,9 50 500,0
33651227 Tulwppwght 2004dq Q< hwwn 0 100 0.0
33651227 Tulwppwght 2004dq A< hwn 65999,9 10 70,0




33651230 Topunnniphght 2uq/d 25 < hun 0 200 0,0
33651230 Tropunnntphghl 2ug/j 250 Q< hwwn 7950 50 397,5
33651231 kuninwnghn 1004q/54; G< hwwn 0 200 0,0
33651231 Ewnwynghn, 100dq/51; S< hwin 3699,9 120 444,0
33651243 Mty hunwipuby 1004g/16,7 1 9< hunn 0 400 0,0
33651243 'ﬂwymmwguh 1004dg/16,7 4| < hwn 9000 270 2430,0
33691280 Shuwjuunhli 0,5 dg/d; 1004 9L huwin 0 200 0,0
33691280 Shuwjwinht 0.5 g/ 1000 QL huwwn 7999,8 120 960,0
33651248 Opuwihwjunht 100dg, Q< huwin 0 150 0,0
33651248 Opuwihujjwinhl 1004g < huin 7986,6 80 638,928
33651241 bunpnipwgh| 500dq < hun 0 150 0
33651241 bunpnipuigh; 500dg < hunn 3799,8 10 417,978
33661131 bunpwpphuinw) nhn 100dq a< hwwn 0 102 0
33661131 Sllinpwpphinw| nhwn 1004q L hwn 20 100 2
33691176 Ughunpndhghti opwipuily 200dqg/54| 37,50 a< hwwn 2400 30 72
33651163 Udhlwghts 5004q/24; 9< hwwn 0 100 0
33691176 Udhtnybi htpwlin 1004 Q< hwin 4080 40 163,2
Udopuhghht/
33651111 s e Unl 1-oh 600U Q< hwtn 0 30 0
33651110 Uduwhghiht 0,5q 9L hwin 215 1000 215
33651110 Udwhgh|at 1,0 9< | hwn 255 1000 255
33651111 Udopu_hgmhhlglquqwbwppm upy.1000dg+200dq < hwin 0 200 0
33651111 Udopuhghiht/pjudnywhiwpgent upy.1000dg+2004q L hwwn 1200 100 120
33611350 Uuynpphtwppnt, nnunngnhn < hwuwn 9 1000 9
33691728 4bignt fubid, pubipn$npd 40q Q< hwn 218 40 8,72
33631210 PEunuwdbpwgnu punip 1dg/q 15g < hwwn 0 20 0
33631210 phmwdbpqubdhggntgl:;lq{iﬁq - 9L hwn 900 10 9
Pujnuapnujhnuh ppndhn, $ELnnbnn] e 2us.
33691176 261U/ i+ 500U/, 204, q< hwin 2700 100 270
33611472 Hhgtipn| dndhlutip nuhnwnhpuihts 1q < hwwn 12,9 2000 225,8
33611472 Sihgtipn| dhypnhnquw 5u 9< hwuw 104 1500 156
33611472 S{hgtipny dhlypnhngliw 10u; L huwin 119 250 29,75
33691138 Syniyng 5%-5000; QL hwwn 0 15000 0
33691138 Syntlyng 5%-5000; 9< hwwn 247,8 7800 1932,84
33691208 Syniynqus (nbipuwnpng) 100dq/dy 1004; < hwwn 0 800 0
33691208 Hynihnqu (nlipuinpng) 1004/ 1004; G hwin 480 750 360
33691208 Sundynqui (nbiputnpng) 100dg/d; 5000 < hwin 580 300 174
33671124 SnepuidngpL, ';Zi;’;“:ff:ﬁ:‘:;”““‘“w'ah'“b" 9 | hun | 11979 20 | 23958
33631310 THhlyndtbiul bunphnidh dndhly 12,50q 9L hwwn 112,9 500 56,45
33631310 Hiynpbuwl bwinphnwh dndhly 25q < hwwn 112,9 500 56,45
33631310 Hlynbuwy winphnw 10dq/q 50q_nntignn q< hwwn 550 15 8,25
33691202 Enwidghjwin 2504q < hwn 38 800 30,4
33691141 (FpYwdht pdoluljul < hwiwn 0 7500 0
33691141 BpYwdhu pdrlwlul < hwwn 3300 1500 4950
33631290 Ppnuypndlit ogwpwly 100dq/5, 1004 < husn 700 250 175
33611310 buunyht Yupduwnle wqnbgnigjuip-10d; < hwn 0 30 0
33611420 Lhn$hjwgyws Yhunwuh Ywpliwppywiht dwupkubp L hwn 0 2000 0
33621100 “wighnudh gynilintwin 5000 QL hwwn 0 1000 0
33691176 4ibdwuwnht upy.1dg/24) < hwn 0 600 0
33141166 Lbuwwpht_punip 25q . hwn 0 15 0
33621640 <hnpnbnpnhgnt puniy 10da/q 15q R huin 0 15 0
Pinpwdptpyn;, daphinipwghy
33631200 punip 7.5dq/q+40ua/q. 40a Q< hwwn 0 300 0
33691112 Ubuinpnupruwgny, pinphtipuhnht punip 1% 20,0 < hwwn 0 20 0
33691176 Uopuh$iopuwght |- 1,61g/u},250 1 G< hwwn 0 450 0
33691176 Opuhubuwgnihtip hhnpnpinphn, 0,25dq/4; 104 9L hwwn 0 40 0
33691136 Lwwphnuh pinphn (o 10%) 504 q< hwin 530 720 381,6
33651149 Lhuwnwwinhti 500000 Ud. QL hwn 15,7 400 6,28




33621140 e H[nwhr].r;qphl 751q 9 hwin 250 12000 3000
wiljw $/wlnhubiyunhll whinwhwbhs
33621643 it bl U 50% 9< {hwp 3400 200 680
33621643 Cwlwubiuhg/wtinhubuwnhly/l wfunwhwitihy ShongUbp/ 9c dio 7200 40 288
G o
Aacss! dhonqbbn/‘}mlmwnwmgh[ﬁ? 20% mmwh!mﬁ 5004 i ki i G s
Cwluwlbupgywinpubuu wiuwnwhwuhs dhgngutin/
N.N-nhnbght-N-tah-wnih(opuhtpahy) winthnush
1 wonatotan, it st wimdn oo, | 7€ | 00| 13500 | s | a0
bhindhluntibinh huyfuhn
Cwlutibfuhy/wlinhubiynply/ whuwnwhwtihs dhongutp/
33621643 wnihhbipuwdtiph bigniwbhnhup hhnpnpinphn, NN-phu(3{  9< thuvip 8000 80 640
wihtnupnwhy) nanbighiwdht
Lwlwubuhg/winhubunpl/ whinwhwy
33621641 A o fu - s < | hwn | 4500 60 270
33621641 Cwlwubtuhy/wlinhubiynhly/L whinwhwbihs Shonglbip/ a¢ K 15 12000 180
Linph imdunn hwpbp
33621490 Ubphinnyw 2504dq < hwtn 45 1500 67,5
Ubwnwdhgny, Gwnphnidwlut
33661125 dntinhhnpwn, whinn$btintih hhnpnpinphn, 9L hwin 270 200 54
ndhn 24)
33621190 Ubklwnhnth bwinphnu phuny$hin 1%-10; Q< huwin 120 1200 144
33621700 Ubiinnwpnin| 50uq < hwn 18 3000 54
33651143 Utipnwbiitad 10004q Q< huin 4500 100 450
33641200 Uhgnupnuwing nhin 2004lq < hwn 180 1200 216
33641210 Uh$bwphuwint nhin 200dq < huwwn 2756 60 165,36
33651139 Uopuh$iopuwght 0,16% -2500, Q< huwwn 1500 180 270
33691170 Snypndhn. 1004 9L hwwn 16500 300 4950
33691154 Snhbipun; 504 9< hwwn 5500 2800 15400
33621750 Lh$tinhwhts 10dg 9< hwwn 31 5000 155
33691223 Lwnpnwywphtp Quighnuwlwl wn 0,34, < hwn 2200 600 1320
33691223 Lunpnwwphtp Ywighnuwlul wn 0,64; < hwun 3500 2400 8400
33691144 Lwunphnuth phnuny$wn 30%- 104y 9L hwn 55 4000 220
33691136 Lunnphnuh pinphn 0,9% 30004 9< huwin 1500 150 225
33661147 Lbinunhqdhli 0,05%- 14 9L hwwn 60 1000 60
33611150 Muwllypbwnhu S< hwuwn 32 5000 160,0
33661122 Nuwpwgbinwing 1004 L hwwn 2500 160 400,0
33611470 Mwbwnnwnwgn nhu 20ig L hwin 60 1400 84,0
33611471 Muwwnnwpwqny 40dg < hwn 1870 50 93,5
33621480 Mbppunnuwphy nhwn 10dq Q< huin 96 1500 144,0
33691186 MNhpwgbunwdh 20%-54 < hun 55 6000 330,0
33691176 Mpngbuwnbipnt 200dq < hww 360 560 201,6
33642210 Mplinthgnnt 5dq < hwwn 8 5000 40,0
33661112 Mpnwn$n| upy. 10g/l 200; 9< hwin 700 3200 2240,0
33621777 Mthywpopuwpwb 15dg A< hwin 750 1260 945,0
33621777 ﬂhlluﬂ)wpwh 20dq < hwin 825 1120 924,0
33691200 Uktinghnutip A,B nhin A< | hum 2 8000 176,0
33621620 Uuhpnunjwljnnt 25ig < | humn 50 10000 500,0
33661181 Ulindyjnipwits 2504, < hwwn 55000 20 1100,0
33661154 Stwnpwluwiht 1% wltwluwpehy 104 9L hwwn 2900 60 174,0
33631380 Snywbinhqnt h/p 150dq G< hwin 80 1200 96,0
33691500 Spwbipuwdwppent 200 < hwn 2350 200 470,0
33691500 Spuwitibipuwdwppnt 500iq L hwn 208 600 124,8
33691176 Shlwgpkinp nhin 90dg < hwn 830 56 46,5
33651116 Stpwanihti 1 < hwin 250 14000 3500,0
33651123 Stbnnwpuhd 1g < hwwn 400 8000 3200,0
33651141 8t$ninnpupd 7500g 9< | hwin 1200 1000 1200,0
33651118 Stbinphwpunt 1g 9< hwwn 150 24000 3600,0




33661122 Nwpwgbinuning oupwl 120dg/5u) 1004} QL hwin 399 20 7,98
33691176 Rungtunfmlep l‘;“d'zf;g:hz'l)zlh"‘-’h" i 9< | hun [ 2650 5 1325
33651145 Minhdhpuhtu B, hhndhghbl,s;}bpuwdbraquh pph uwpby Sioe 0 2 0
!

33631230 Mnyghnnl jnn_punip 10 % 20q < huin 260 30 7,8
33671113 Uwpnunuiing gnnuighp 100d4g/nnqu 201 9L hwwn 1460 300 438
33691500 Spwibpuwdwppnt nhin 2504dq 9L hwin 127 400 50,8

Stpninopupd nihy Uply
33651141 niBnyeh 750da, 104; qC hwwn 0 500 0
33661122 Nwpwgbnwdng nhin 500dq < hwwn 6,5 5000 32,5
33661122 Muwpwgbuuidng dndhllbp 1500 %< | hum 50,9 130 6,617
33661122 Mwpwgbnwdn dndhlubp 80dq < hwwn 42,4 80 3,392
33631150 Shulh opuhny punip 100dq 25q Q< hwin 227,85 8 1,8228
33651134 Shwpn$inpuwghl nhin 500ug. G< hwwn 28,9 3000 86,7
33611120 budninhnhti hnphjwgyws tipl L-eh 20dg, 54} jmishy 9L hwwn 0 75 0
33611140 Ounwuubwpnt 2dq/d 44 < hunn 235 1500 352,5
33691192 Sbuwgnt, hnnjuwiht whwhowlwphy 5q 9< hwwn 504 8 4,032
33651150 dyniyntiwgn; 50dq, < hwu 0 120 0
33651150 Dyniyntiwgn 500 < hwin 116,84 70 8,1788
33651134 Shujpniopuwghty, nbipuwdbinugnl n/Ywfunye 10 o Q< hwin 0 4 0
33651134 Shumn:‘p[oguwgbh, nipuwdbnwgnt n/yutunyp 10 ]} < hwn 2016 2 4,032
33671129 Lhuipnbnipw, mbmpwhwjls’uzl, Phliwant whwligh Guph ¢ i 0 9 0
33671129 Lhupn$nipuy, mhmnwuqull;‘. Pbliwgnt whwligh Guyehy 9¢ — 315 8 2.5
33691226 Spuniwnn) 100dg 20 < hwwn 200 500 100
33691226 Spwdqu[/r}hpuybmnumnfbbh 75uq/25dq QL hwn 250 150 37,5
33661123 Sphdbujhpnht 2%-14; 9< hwwn 780 400 312
33621420 Unnpywutnwnht 40dq 9L hwin 80 6000 480
33671125 Udppnpuny opwpuwly 100 o AL hwwn 800 60 48
33671114 Udhtindhiht 2,4%-5 1) 9L hwn 48 10000 480
33621390 Udhnnwpnl 150ug 3u; 9< hwn 650 1200 780
33651163 Udhlwghl 500dq/24; 9< hwun 2440 120 292,8
33691176 Uwhluwpwl nhin 5dq 9L hwwn 507 120 60,84
33621740 Udinnhught 10Ug < hwin 10 6000 60
33651110 Uduhghht+unypulynusd 10004q/500dq L hwn 3000 80 240
33661121 Ugtinhjuuijhghiwppent 500uq Q< hwwn 6 3000 18
33621761 Ugtiinhjuwihghjwppnt, dwqubighnulh hhpopupn q< hwwn 25 4500 112,5
33691153 Pwphnuih uny$uin gingh 100q 9L hwwn 200 240 48
33691189 Rlwnwhhuinhl 244q q< hwwn 120 2400 288
33691811 Phuwlnnhy dndhy 10dq QL hwin 42,6 3000 127.8
33621720 Phunupnn| 5uq A< hwwn 30 12000 360
33621360 Hhgbippy trhihupwn/ Uhwpngihgbpht 1,54; hnd hwtn 750 1600 1200
33661153 Hipuwdbipwgnt whtwlwgehy 104 G< hwn 750 40 30
33621250 “Hipunpuwit 70 - 5000 < hwn 2400 60 144
33621250 Hapuinpwls 40 - 5004, q< hwn 2400 180 432
33631250 Epwn| pdoluljuts 96% < lhinp 1200 500 600
33621120 Eopuwwwpht bwwinphnul 400000 0,44; RS hwwn 2400 600 1440
33611180 Lwlwnyng 200 i A< huwin 2300 40 R
33661116 Lhnnluwhtih hhnpnpinphi, 25%-24, < huin 38 4000 152
33691192 Lhnnlwjhu hpnnnpinphn, Ewhub$pht 200 R hunn 900 150 135
33691203 Lnquiptnwti nhin 100dq. L hun 52,5 560 29,4
33691213 Lhnbhjwgyws Yhunwuh Ywptwppywiht dwliptubp q< hunn 131 2000 262
33691213 Ubtinwuh Ywpbwppywiht pwywnbiphuwitbp / Lwphut S§< hww 45 5000 225
33691176 Yuwipptinnght 100dla/iy 1) QL hwin 22680 10 226,8
33621690 Ywpybnhng 25dg L huwin 50 2800 140
33631300 Ytnnwpndbt 50dg/d) 24; LS huin 180 1000 180
33691176 Yibdwuwnh 14 < huwin 220 400 88




33651134 Shwpn$iopuwght wluwlwsh) 0,3% 104 < hwwn 700 40 28,0
33631241 Linphtipupnhtih uwhpwwiht NG G< lhwnp 1500 250 375,0
33631200 anndebhun[.dhpmmpwgm puntly 40q 9L hwn 300 240 72,0
33651192 08h wnihyw(blin hwljwpnyl 4L hwwn 120000 1 120,0
33611120 bwdninhnhti nhun 204q < huwtn 28 8000 2240
33611120 Swdnnhinhs 20dq < hwwn 980 350 343,0
33651150 byniynuwgn 150uq 9< hwtn 150 1000 150,0
33691176 Dnipwghihuh pundy 25¢ QL hwn 250 200 50,0
33691176 dnipwghihuh thnph 0,2 .l hwwn 12 2000 24,0
33621230 bnjwppnt 5dq 9L hwin 4 4800 19,2
33661123 Sphubwhpnht_ 2% 10, < | huwm 780 150 17,0
33651163 Ushlwght 5000g/2d a< hwn 2440 120 292.8
33651110 Udwhghipt+unypuljunwd 10004g/50000g. < hwin 3000 80 240,0
33651112 Udopuhghjht/pjunnywiwprent ntho 2501g/54) 1000 < hwwn 1060 30 31,8
33691176 Uwjhpuwpwt nhin 5iq < hwn 507 120 60,8
33621390 Udhnnwpnu 2004q QL hwin 80 3000 240,0
33691153 Pwphnuh uny$win thngh 100q. A< hwin 300 240 72,0
33671126 Ppndhbipuht 8ug QL hwwn 3 3000 9,0
33611472 Shgbipny dndhlubp 2,11 Q< hwun 138 800 10,4
33621360 Hhgbiphy rhtupupuwny/ Uhwnpngihglipht 0,54dq < hwin 10 400 4,0
33691213 Lhnbhugqws Yunuuh YwpUwpRYwht dwbpkutp < hwn 131 1600 209,6
33611200 Lnybipwipn 24q < hwiwn 12 600 7.2
33661116 Lpnnlughtp h/p gnquighp 5%-154 QL hwn 1322 50 66,1
33661116 Lhnnyuwyhuh h/p punip 5%-15q 9L hwwn 835 20 16,7
33651199 Ywinwnnyejwl nhd wwunwunwinya G< hwwn 7000 50 350,0
33671135 “wighnwih pinphn 5i0) q< hwn 86 400 34,4
33621643 wlwubtuhy/whinhubwyinhl/i whunwhwhs dhenglbip/ ac iiiin 7200 30 216,0
dbpdbunwn wany_uhon
<wqwnbmh§/wumhﬁﬁuTuﬁﬁE%T‘LPrfw‘g UhongUER/
NN-nhnbighi-N-dtiphi-wnih(opuhtphy winthnudh
33621643 o, nhntgh ndph, wintpmudt ot < | jhup 13500 80 1080,0
Shnitbinntbink hunfiuhn

33141166 bwwpht punip 25q L hwn 620 20 12,4
33621640 <prynnbynpinhgnts puniy 10dg/q 159 < hwtn 265 30 8,0
33651191 Swlwpnnnyhlwht 2hénily inpuy UL Q< hwuwn 2700 3 8,1
33651191 Swlwpninnyhtiuhb shéndy inpuy £ Q< hwwn 4800 3 14,4
33651191 Swlwpninnyhtiwht shéndy uhy & QL hwwn 5400 3 16,2
33621270 Ublpnih ;ndnyp dbphy hanjutipwrepynul 9< hwn 18 200 3,6
33691112 UbnpnUipruwagny, pinphbipuhnhl nntinnn 20q 9L hwwn 655 20 13,1
33631260 3nnh uw. ndnyp 304 <L hwwn 430 100 43,0
33651128 Lhunpnbnipwtinnih 50uq Q< hwwn 5 1000 5,0
33691199 Uhihdwphu 225dq Q< hwwn 24 800 19,2
33691176 Shlwgpbinp nhin 90ug GL hwwn 830 56 46,5
33651321 Stbonwpuhd/unypuwlynus 1000dq/5000q. 9L hwun 3000 60 180,0
33651141 8t$nipnpuhd 750uq < hwwn 1320 500 660,0
33631491 Stnhphght 10dg A< | hwwn 71 600 42,6
33691176 Bhlynwbuwnnjun whtwluwphy 1%-54; < hwin 3180 25 79,5
33671116 Luhndawnwgnih gnnuihe preh 104 huwin 1500 30 45,0
33691176 Opuhdtinwgnihtih b/p pph Ywpeh 0,5uqg/u) 104 Q< hwwn 680 40 27,2
33651192 0ah wnihubiin hwlwenyl Q< hwwn 120000 1 120,0
33621590 Dnipnubiihn 40dg 9L hwin 4 2000 8.0
33621590 bnupnubidhn 1% 24; QL hwwn 29,4 32000 940,8
33691176 DEUwgnl, |pnnluyht 150 < hwin 1100 30 33,0
33691200 Ukunghnutin uu huwn 20 2000 40,0
33671113 Uwipnunwiing gnnwghp uu hwun 2250 6 13,5
24111190 Udluwppnt quq uu hunn 5500 50 2750
33651143 Ubipnwhiutid 1000uq Uu hwin 4900 10 49,0
33651126 Sunwdhght 2| Uu huin 67 600 40,2
33671113 Uwipnunwdng gnnughp Uu hwn 804 60 48,2




33691800 Plwghgnuiwp 1004dq uu huwin 100000 1 100,0
33661112 Tpnun$ny 10dg/l; 200 uu hwwn 465 215 100,0
33611280 SHhyjwghn MR nhin 60dq uu huwwn 96,2 300 28,9
33691176 hunndbunwght dnihy Uu hwin 97 360 34,9
33621600 hunwwwihn nhin 1.50g uu huwn 18,833 1800 33,9
33621100 Hwighnuih gynintiwn 500uq uu hwn 22 500 1,0
33141165 Ujpnidhlu 20% 1004; uu hwn 4 25000 100,0
33621590 Snipnutidhn 1% 24; uu hunn 294 3400 100,0
33691176 Udhunyb htipuitien 100 uu hunn 4080 24 97,92
Cunwibp 221654,1
PJTLULUL UUMrLUINPNRUTLER b4 MUPUGULED
33181110 <bdnnhuwihgh uwpp tus hwwn 7000000 2 14000,0
33181140 <bdnnhwihah gph dwppdwt Yyl <Uu hwwn | 42500000 1 42500,0
33111100 fSquihti nbingbli uwnp < hwn 9300000 1 9300,0
42931111 Lnnwgnn gbtiunphdnig L hwwn 580000 1 580,0
33141136 Upuunnpnghs hwpbinp < hwn 0 200 0,0
33141136 Uhunnpnghs bwpbnp 9< hwwn 6200 60 372,0
33141136 Utunnpnphs Yupbnp < hwn 8100 900 7290,0
33141136 Uluinnpnghs Ywietinpubiph hwywpwdnt < hwn 0 700 0,0
33141136 Utuinnpnohs bwpbupttinh hwdwpwdne < hwin 12400 400 4960,0
33141184 Ufunnpnhy ninnnpnhs hhnnn$h) -0,018 j < hwwn 16000 40 640,0
33141136 Uuwhpwghnt jupbwnp 9L huin 0 10 0,0
33141136 Uuyhpwghnt Yupbunp < huin 105000 3 315,0
33141136 Uuwhpwghnt Ywpbup Q< hwun 95000 3 285,0
33141137 Puintwhl Ywpbntip pupén Godwu 1 Q< hwwn 32800 200 6560.0
33141137 Pwintiwhy Yupbnbp pwpdp Gydwl 2 4L hwwn 31000 300 9300,0
33141137 Puintiwhts Ywpbinp 1 < hwtn 32800 220 7216,0
33141137 Puntiwh Yuptup 2 9L huwin 0 300 0,0
33141137 Pwintiwght Yupbnp 2 < hwwn 31000 200 6200,0
33141137 Punuuht Ywptnp 3 < hwwn 0 50 0,0
33141137 Punuwjhl ywphnp OTW Q< hwin 0 5 0,0
33141179 Pdoluljwt hwywpwdniubp wlighngpw$huh hwiwp q< hwin 19800 1200 23760,0
33141180 Pdolwljwts hwlwpwéniubip wlghngpwhwih hwdup uu hwn 19800 120 2376,0
33141136 GHwn Ywbnp 1 K hwin 17800 600 10680,0
33141136 Swin Ywpetinp 2 9< hwtn 0 70 0,0
33141211 Ghd 60ud 9L huwn 0 150 0,0
33141211 Trwunwlh Glignn Guy L hww 0 50 0,0
33111310 "Hinwwwiin unbtin 1 < hwn 89000 260 23140,0
33111310 Hinwwwin unbun 2 q< hwin 0 260 0,0
33111310 "Hinwuywn wnbtn 2 K hwwn 95000 160 15200,0
33111310 "Hinwwwwn unbun 3 < hwin 0 60 0,0
33111310 Hinwwwin unbun 3 G< hwwn 79000 30 2370,0
33111310 Hinwwwin unblun 4 < hwin 0 30 0,0
33141211 Eiypnn. nhpdwwp dwdwlbwlwynp uwppbiph < hwwn 0 2 0,0
33141211 bnbubyunnnp 20/30wnwigiwiht thwpbp Ynuihinunnyg L hwwn 10000 400 4000,0
33141211 Prupywinnp thwptie 20 Suy q< hwuwn 6000 50 300.0
33141211 brUubywinnp thwplip Ynwhinuany < hwin 10000 100 1000,0
33141136 Puwnpwnyniubip Swéwugwhu < huwin 10900 1500 16350,0
33141136 hunpwrynbip ptidnpuwy 10ud < huwin 10900 250 2725,0
33141184 “npntwp mnnnpnhs 0,6-0,7q < hunn 0 80 0,0
33141184 Ynpnltiwp nunnpnhs 0,6-0,7q KL hwun 35000 40 1400,0
33141184 “npnbwp Ywibip 0,4-0,5¢ G< hwn 0 120 0,0
33141184 Ynpnliwp Juybip CTO G< hwwn 0 10 0,0
33141184 Ynpnuwn Juytip CTO 1 L hwwn 0 5 0,0
33141184 “npnlwn Juybip CTO 2 < huwin 0 5 0.0
33141184 “npnlwp uybip hhnpndhy < huin 33000 500 16500,0
33141136 Uhypnlwptnp Ynpnuwnp wingeh < hwin 0 5 0,0
33141136 Ninnnpnhs Ywpban S< huwin 0 50 0,0




33141136 Ninnnpihs Ywebnp < hwwn 21000 20 420,0
33181170 Upjwl hnupwiht ghd L hww 1490 11500 17135,0
33181150 Zhdbuyghl funwiynysh pwppphy 9L hunn 1350 11500 15525,0
33181150 <pduwht funwitynih pwipephy uu 1350 1150 1552,5
33181120 Thwihquunnp 9L hwn 3600 1200 4320,0
33181120 Huwihquunp uu 3600 120 432,0
33181120 “YHhwhquinnp Qs hunn 2750 4000 11000,0
33181120 “thwihquinnp uu 1750 400 700,0
33181120 “Hwihquininp Q< hwwn 3000 1440 4320,0
33181120 Yhwihquinnp T 3000 144 432,0
33181120 Hhwihquinnp q< hwwn 3400 4000 13600,0
33181120 "Huwihquunnp uu 3400 400 1360,0
33181160 fpYuyht funwiynie < hwwn 3250 2500 8125,0
33181160 BpYuht funwunye uu hwuwn 3250 250 8125
33181160 Shupntwppyh unwbyne G hwtn 10000 160 1600,0
33141149 Shunnyuyht wubinubp quplpwluyght < hwn 195 9000 1755,0
33141149 Shunnyuhts wubinubp bpwlught Q< hwn 195 9000 1755,0
33141149 Shuwnnyuwpt wubnubp qupytipwlwiht < hwin 196 2500 490,0
33141149 Shunnywiht wubinubip_bpwluht 9L hwiin 196 2500 490,0
33181120 Shywnp htdnnhwihgh uwpph < hwn 75000 15 1125,0
33141136 “wpbnbp hbdnnhwihgh G< hwn 8200 50 410,0
3392 | sttt wwsuwybnbs wpqbuutyng hwppwy | F< [ hun & L i

1 102000 5 510,0
SS9 | wpusnulyph wnwgubnh wpgbwpuwlgon huppwy | < | huw ¢
33141192 Uupwlh Ywppwynp hwppuwl < hwwu 0 6 0,0
33141192 Ubpwyh Yuppwynp hwppul < hwn 102000 3 306,0
33141192 Pwgniynuyph dnunwlju wpgbjwhwlynn hwppwy 9< hwwn 0 25 0,0
33141192 Pwgniynuliph dnunwluw wngbthwlynn hwppwy q< hwwn 132000 13 1716,0
33141192 Pugniynulph inphtig dbju 9L hwn 0 10 0,0
33141192 Updnilinish wnqbjuthwlyng hwppwl G huitn 0 4 0,0
33141192 Updniuytiniuh wpgbjuthubynn huppul < hwwn 102000 2 204,0
33141192 Dubwusnulph hbinwljw thnthnfuwlwl wuljwip — 0 15 0,0

wngbjwthwlynn huppul
33ttty | Bwubsnubinh At pifohulul GUud 9< | hun | 102000 8 816,0
wngbjwihwynn hwppwl
33141192 Uanpnulph U hwppuly Ubpwinjw| Ybnpnbwlut ac Kl 0 10 0.0
___wuinunwlp
33141192 | Uannnelih 1<U hupuly Venuwinga Galapmiatyat |~ - hwn | 162000 7 1134,0
winnunwln

33141192 Ugnnuliph H<U _ hwppwljh Yndwpbiupnl wnnunwly L hwn 0 10 0,0
33141192 Ugnnuliph WU hwppwlh Yndwnpbupnt wnnuwnwy < hwwn 3000 7 21,0
33141192 [ Ugnpnulyph htinwlyus uwWht wpgbwwlynn hwppwly | 9< hwn 0 6 0,0
33141192 | Ugqnpnuyph hbnwlw nnuwyht wngbwihwldng hwppwl Q< huwin 162000 3 486,0
33141192 | Uk nnph dnuwljw nnuwjht wpgbwihwipdnn hwpewl < hwwn 0 10 0,0
33141192 | Ubd ninph dnunwlw npuwiht wpqgbpugwlynn hwppuwl < hwin 132000 5 660,0
33141192 | Ut ninph dnunwlyu Ubipuwht wpgbuhwlpnn hwppwl | 9< hwwn 0 10 0,0
33141192 | Utd ninph dnunwlu Ubpuwht wngliuhwyynn hwppwy Q< hwwn 132000 5 660,0
33141192 | UL ninph htinwljuw Uhguiht wpqbiwihwlynn hwppuwly Q< hwin 0 10 0.0
33141192 | Ut njnph htinwlyw dhgwjht wpgtpwthwlyng hwppuly 9L huwin 132000 5 660,0
33141192 | Lppninph hbinwlus Ynndwyht wpqbuihwlpdnn hwppwl | < hwwn 0 20 0,0
33141192 | Uppnpnph htinwlw Yandtiwght wpgbpwihwlnn huppwy | 9< hunn 102000 10 1020,0




Pnpp wnqbjwihwlnn Yndwpbupnt hwppwl 3,5 Ud

33141192 9< huwn 0 10 0,0
wnunwhiibnh hwdw
3314ty | Fren wnghuhutidnn Yndupbuhnl huppul S50 [ 102000 5 510,0
wnnwnwlubiph hwdw
33141192 Ltin wpqbjuthwlynn Yndwpbuhnt hwppwy 4,500 9¢ Vit 0 10 0.0
- mmmmmm&bnhhhwd'?g =
Uhi
33141192 "L unqshubdnn Ynduypbuhn hupeul 4, < | humn | 132000 5 660,0
wnnunwyttiph hwdwp
33141192 Ugnpnulpp Yupé wnnpuhdwy dbfu Ywihwphsnyg L hunn 0 60 0,0
33141192 Ugnpnulyph Ywp6 wnnpuhduy dbfu Guthwphsny q< hwwn 162000 30 4860,0
33141192 Ugnnnuliph tipluwp wpnpuhdwy dbifu Ywihwphsnyg Q<L hwwn 0 30 0,0
33141192 Ugnpnulph bplwp wpnpuhduwy dhifu Yuihwphsn 9L hwwn 162000 15 2430,0
33141192 Ugnnuljph wpnpuhduy dbifup 6,400 wunnunwily < hwin 0 90 0,0
33141192 Ugnnuliph wpnpuhdwy dbfup 6,400 wununwly < hwn 3000 45 135,0
33141192 Ugnnulinh wpnpuhdwy dbfuh 8,000 wunnunuwly K hwin 0 90 0,0
33141192 Ugnnuliph wpnpuhdw dbjuh 8,04y wwnnunwly <L huwn 3000 45 135,0
33141192 Ubd ninph nphtug dbfu Q< hwwn 0 15 0,0
33141192 Ut ninph inphtiq bty 9< | hun | 162000 8 1296,0
33141192 3,9 Ud jnphtig wwnnunwl Shfup hwdwp 9L hwin 0 20 0,0
33141192 3,9 ud jnphtiq wwnnunwl dbifuh hwdwp < hwin 3000 10 30,0
33141192 Ugnnuliph wpnpuhdw dbfuh 4,900 Inphug wunnunwl L hwwn 0 120 0,0
33141192 Ugnnubph wpnpuhdw dbfuh 4,900 Inphlig. wunnunwly < hwwn 3000 60 180,0
33141192 2,400 wpgbijwihwlnn wunwawl L hwn 0 50 0,0
33141192 2,400 wngtyunhwlng wwnuwnwl < hwin 3000 25 75,0
33141192 2,744 yununwly < hwwn 3000 25 75,0
33141192 3,500 wpqbjwihwynn uynlghng unnunwl q< hwwn 3000 150 450,0
33141192 3,500 wpgbywihwlng Ynpunhlyu winnunwl 9L hwin 0 100 0.0
33141192 3,500 wipgbiwihwlnn Ynpuinhlyuy wunnunwly YL hwwn 3000 60 180,0
33141192 3,504 Ynpinhlyug wnnunwly huplwpwlynn L hwin 0 150 0,0
33141192 3,504 Ynpunhlusp wnnunwly huptwpwlynn < hwn 3000 100 300,0
33141192 4,00 uwnlighng wwnunwl 9< hwin 0 20 0,0
33141192 4,004 uwnlighng uwnunwl 4L hwin 3000 10 30,0
33141192 4.00d Ywynywgywd uyntighng wnnunwly 9L hwn 3000 40 120,0
33141192 4,544 Ynpunplywi winnunwly huptwpwldny 9L hwn 0 80 0,0
33141192 4,504 Ynpunhlwy winnunwl huplwpuwlnn < hwn 3000 40 120,0
33141192 5,04 wngbuithwlijnn uwnughng wunnunuwl < hwn 0 100 0,0
33141192 5,004 wpgbjwihwlnn uynughng wnnunwl < hwwn 3000 50 150,0
33141192 5,00d wpghywthwlnn Ynpunplwy wnnunwly < hwwn 0 50 0,0
33141192 5,0dd wnqtywihwynn Ynpunhluy wunnunwly Q< hwwn 3000 25 75,0
33141192 7,04ddd Yndwypbuhnt wunwwl < hwwn 0 50 0,0
33141192 Pnpp Yndwptivhnl hu:r:ﬂ 3,5 dd wwnnunwlubph aE — 0 10 0.0
—__wuwn
s3intey | Pran mdunbuhnt huppuwl 3,560 wnunwlUEnh | - hwn | 102000 5 510,0
hwdwn
33141192 Ubn Yndynbupnt hwppwl 4,503 wununwljubph qc . 0 10 0.0
hwdwp
33u4n92 | VB Undwynbuhnt h”:";'z‘j‘:‘n"s‘” B a< | hun | 132000 5 660,0
33141192 Uty Bppnpn mntpnmwn:uu:::::q 3,5 dd wwnunwlubph 9¢ i 0 10 0,0
33141192 | YBY BPnnnn mnipnyun :‘“ﬁ:"‘ S0 wnnusdenR] o, 102000 5 510,0
i
33141192 Luyu Yndwypbivhnt hwppwl 4,5 04 wwnnunwyubph ac hutn 0 10 0.0
hwdwp
33ianigy | N Yndupbuhnl h”‘:'f"":’llf:'s ' upmnunulpny a< | hun | 162000 5 810,0
33141192 MHaynuuwnpniyghnt hu:lpjl;uqn&s Ud wununwlubph qc¢ — 0 10 0.0
w
aaungy | Mlinupndighnt VR 95 00 wamunulBER 1 0c | | 102000 | 3 510,0
w
33141192 Cjnin 1,5 dd 30ud < hwwn 1500 200 300,0




33141192 Gjnin 2,0 dd 30ud < hwwn 1500 200 300,0
33141192 Gynin 2,5 dd 30ud 9L hwn 1500 200 300,0
33731121 Lbpwluuwiht nuwtywly Q< hwwn 37000 250 9250,0
33731120 Lbipuijuwyh (hgpuinpuws diuthniy nuujlywl 4L hwwn 0 250 0,0
33731120 Lbipwliwht hgpuwinpyws thustpnd nuwtywl < hwn 50000 200 10000,0
33731120 Lbpuwlibwihti dushniy hhnpndnp nuyljuy < hwin 49000 50 2450,0
33731120 Unun$nihly dwindph hhnpndhy ng dhugnit nuwtywy K hun 50000 50 2500,0
33141212 Shyntdnyup$hlwghwih hwywpuwdn: 9< huwun 60000 102 6120,0
33141155 Twtiwl UGbwpnidwlwt-Ybpwinng QL hwn 0 250 0,0
33141156 Twtwly UYtwpnidwlwb-lhpwnnd 9L hwwn 4700 150 705,0
33141155 “hubwl wlwpnidwluwl Q< hwwn 0 252 0,0
33141156 hwiwl whiwpnidwlwu Q<L huwin 5500 180 990,0
33141212 Ubbwihpwhuwnwluit Ubng < | humn 0 50 0.0
33141212 Uytwdhnwhwnwluil Ubpy 9< | hwm 11000 40 440,0
33141212 Ulbuhnuhwinuwlul Gbnl < | huwm 3000 70 210,0
33141211 Nuuwtywlh uwyunywp on 12.30/10.0004d < hwin 0 25 0,0
33141211 Nuwyubh Yuwunyup on 14.30/12.00d0 9L hwun 6500 25 162,5
33141211 Nuyljwlh Ywwunywp on 15.30/13.00dd < hwin 0 25 0,0
33141211 Nuwbjwlih Ywwunywn on 15.30/13.00dd QL hwiin 6500 20 130,0
33191620 Uytwdhpwpnidwlwt Yhp. unbiph| dwdng uwbnwp < huwin 1200 700 840,0
3314121 Uluwpnidwliwl puppphs 4L huwn 0 200 0,0
33141211 Uyuwpnidwluwl puppphs G hwwn 4200 150 630,0
33731141 Uwnbiphy Ubpuiltiwhty jnidny 5004, 9< hwun 6400 210 1344,0
33731140 hgnuntiply, unbippy,wwhpngbls nidnye QL huwwn 2500 400 1000,0
33141211 Utiphigbyninquyht Yhuynkjwuwnhl /gty G< hwin 0 250 0,0
33141212 Utiphigbynynquyhts dhulntjwunhly /gby/ < hwun 6200 200 1240,0
33141204 dhnpEyundhwih hwdup Uwhuwbbugwd gnlin 9¢ huwitn 0 " 0.0
hwyjwpwdnt
33141225 “hwpklunndhugf hundup bwiubGudus qrin 9< | hun | 110000 6 660,0
hwdwpwdnt
33141184 Hwbp 0,35 4L hwwn 0 150 0,0
33141184 Ywkp 0,35 < hwtn 19500 60 1170,0
33141184 Yuwbip nhwgtnunhly 0,35 < hwwn 11000 50 550,0
33141184 Ukijpnywhin 0,014 < | hwwn 0 50 0,0
33141184 Lbypnqubip 0,014 9< hwin 100000 40 4000,0
33141184 Lbypnydhypnywtip 0,014 < huin 0 50 0,0
33141184 Ubynnyshlypndwbnp 0,014 q< hwa | 100000 35 3500,0
33141184 Gwin 2hp 9< hwwn 0 50 0,0
33141184 Ywin ohp 9L hwwn 78000 20 1560,0
33141136 Ninnnpnhs Ywpbnkp < hwwn 0 100 0,0
33141136 Nunnpnhs Yuptnbp L hwwn 55000 50 2750,0
33141136 Uuyhpwghnu Yupbubip/utipnhtudughy < hwwn 0 50 0,0
33141136 Uuuyhpwghnt Ywpbwtp/utypnhtugwghy Q< hwwn 480000 15 7200,0
33141136 | Uuwjhpwghnt Ywpebinbip/wtiph$tiphly hwuwlbhnyejwdp < hwwn 0 50 0,0
33141136 Uhlpnjwpetitntip 9< hwwn 0 20 0,0
33141136 Lbypndpypnywptintp < hwwn 0 50 0,0
33111310 Unbtuwn/ntinnphybip 9L hwin 0 50 0,0
33111310 Uwnbtun/ntnphdtp 9< | hwm | 462800 25 11570,0
33111310 Llypnunbun q< huin 830000 20 17800,0
33191510 Prputibpwpwldwt hwilwpg/pupanp Gupdwu < hwwn 0 200 0,0
33141211 Gnninh thwluwting 9L huwwn 0 200 0,0
33191620 Uwnbph| uwyuwt L hwn 180 150 27,0
33141142 Lbpwplhs thwlwuny < hwwn 0 50 0,0
33141211 hudbnighnli funnnyuily a< hwwn 0 100 0,0
33141136 “Hhwgqununpl Ywpbnkp < hwwn 0 100 0.0
33141136 Hhuigununhl Yuwphnbp 9< | hum 17000 60 1020,0
33141136 Thwqunuwnhl Ukjpn Ywpknbp <L hwwn 0 50 0.0
33141137 Thwqinuinhy ubpn Yuwipbintip L hwn 25000 25 625,0




33141211 “nUbiljnp Ywal QL hwn 0 200 0,0
33141211 Yntbiljuinp Ywsl q< hww 18000 50 900,0
33141136 Uhlpnlwpbptn 9< hwwn 230000 30 6900,0
33111310 Utnbun Q< hwwn 0 15 0,0
33141211 (3pndphg wwynwwlng gnpdhp 9L hwwn 0 15 0,0

33141136 Uuwhpwghnt wpbubip 9< huin 395000 40 15800,0
33111310 UwnbUwn/ntnphybp L hwwn 0 20 0,0
33141211 Uuwhpwghnt Ywpbnbp thnpp nhwdbunpny < hwwn 0 20 0,0
33141211 Uuwhpwghnt Jupbunbp thnpp nhwdbnpng <L hwn 230000 6 1380,0
33141136 Uhypnywpbiinbp q< huwin 0 20 0,0
33141184 Lbpndhlypnyuwytin Q< hwin 0 30 0.0
33141136 Ywplitnbp phptnuhly < hunn 20 5000 100,0
33141136 Ywpbwnbp Ubpbpwluht 246 9 hwiwn 45,9 20000 918,0
33141136 Ywpbnbp Ubpbpwlwht 226 9< | hum 37 10000 370,0
33141136 Ywpbintp Ubpbpwlwht 20G A< | hum 37 10000 370,0
33111230 Udunindwwn pwdwtwynphsh Swjpwluiubip 10-2000Y,; < hwin 0,552 80000 44,2
33111240 Ujwindwin pwdwtiwynphsh Swjpwljuibin 100-10004ly q< hwn 1,548 40000 61,9
33141115 Pdlwlwt pudpwly ng hulwbbuws 100g tbipdéynn < hunn 148 4000 592,0
33141116 Pdaljwlwl puitigh Awpyuy/ q< hwin 62,97 60000 3778,2
33141178 THanbiph Ubpwnldwy hwdwlwpgbin 9L huwwn 0 100000 0,0
33141179 THntiph Ubpwnydwl hwiwlywpgbin QL hwwn 35 50000 1750,0
33141111 Ywsni uwbnwtih 5*500 Ywnnphg Q< hwwn 199 8000 1592,0
33141111 Yuysniu uwbnuwiih 2,5*500 Yuinphg < hwn 82 5000 410,0
33141156 dbinungubip pdoljwluwt ng unbiphy Q<L hwn 0 200000 0.0
33141157 Atinungibip pdalwlwl ng uwntiphy < hwwn 10 100000 1000,0
33141100 | Ublwuquidjw oqunuwgnpdiuw RhuR-tinhg qyniyndtitnph hwn 0 5000 0,0
33141100 | Ublwbquidjw oquiwgnnduwl phup-tiphg quniyndtinph Q< huwin 90 4000 360,0
33141173 Uhqpunniups Q< hwn 97,5 5000 4875
33141142 Lbpwplhsubn 1,0 < hwwn 9,7 80000 776,0
33141142 Llipwplyhsubp 2,0 3£ huwin 0 100000 0,0
33141143 Ubipwplhstibp 2,0 < | hwm 9,69 50000 4845
33141142 Lbipwplhsubnp 5,0 < hwun 9,9 160000 1584,0
33141142 Lbpwplhsubip 10,0 < hwn 0 140000 0,0
33141143 ULbpuwplhsutin 10,0 G< hun 14,5 70000 1015,0
33141142 Ubipuiplihstin 10,0 lock < | hum 24,5 5000 122,5
33141157 Lawnwpubp b uwpbip < hwwn 18 5000 90,0
33161220 Cuwwwnbiy thwyinb < hww 4 60000 240,0
33141211 Ghd Epupwgnighs 150ud 9< hwuwn 260 5000 1300,0
33141110 Hhpwlwwbp 7414 ng hwhwlbfugws s hwwn 80 10000 800,0
33141110 “Uhpwluwwbp 10*16 ng hwlwbibuws < hwin 136 8000 1088,0
33141110 Yhpwhwwbip 510 ng hwhwbiujws < huwin 45 6000 270,0
33191310 | PrnAwUneEn ‘l‘“l‘"“"“’h:w‘t‘i”“’“ tinhuiting groopmbi] o | hiiin 16,7 48000 | 8016
wp
33191310 Prpawilinplip Jwyniiwht dhjwght < huin 24,8 36000 892,8
33191310 Pnpdwlinpubip Na ghwpwin < hwn 16,7 12000 2004
33141144 Muninbnuihl wubn ninnnpnhsny G hunn 170 2000 340,0
33141158 Yhpwpnidwlut dkntunglitip N7 q< huwn 90 6000 540,0
33141158 dppwpnidwlwl bnungubp N7,5 < hwin 88 8000 704,0
33141158 hpwpnidwljuil dtintingubp N8 AL hwun 88 7500 660,0
33141158 Yppwpnidwlwl dknungubp N8,5 L hwin 88 3000 264,0
33141121 “ppwpnidwliwl phitip Lyt 1 9< hwn 200 180 36,0
33141121 Yhpwpniduwljwt phitip Liynu 0 Q< hwwn 200 180 36,0
33141121 dppwpnidwljwl phip Lhynu 2/0 9L hwin 200 240 48,0
33141121 Yhpwpnidwljuwl phitip Legnu 3/0 9< hwwn 200 240 48,0
33141121 Yhpwpnidwlwt plitp Lkynt 10/0 Q<L hwn 0 24 0,0




33141121 Yhpwpnidwlwt phjkp Ykngnun 0 < hwwn 0 600 0,0
33141121 Yhpwpnidwluwl phibip Yewngnun 2/0 9L huwin 280 900 252,0
33141121 Uhpwpnidwlwl phip Yhngnun 3/0 9< hwin 280 900 252,0
33141121 Uhpwpnidwlwt phikip Yaungnun 4/0 9L hwn 280 480 134,4
33141121 dhpwpnidwlul phitp Mnjhwpnwhibu 0 9L hwwn 169 600 101,4
33141121 Uhpwpnidwiywl phip Mnjhuypnwhib 1 < huin 180 600 108,0
33141121 Yhpwpnidwlwts phin Mnjhujpnwghiat 2/0 < hwwn 169 600 101,4
33141121 Yppwpnidwlwy phybp MNnjhwpnwhitu 3/0 < hwtn 180 720 129,6
33141121 Yppwpnidwlwl phjkp Mnjhwpnwhbl 4/0 L hwwn 180 480 86,4
33141121 Uhpwpnidwlwl phibp Mnhguuilwhu 0 G< hwn 309 900 278,1
3314121 Yhpwpnidwlwl phbp TMnjhquulnp 1 < hwin 315 960 302.4
33141121 Uppwpnidwljwi phytp Mnhguulpnpu 2/0 < hutn 306 600 183,6
33141121 Yhpwpniduljwt phitp MNnjhqulpnpt 3/0 < hwn 309 600 185,4
33141121 Uhnwpnidwlwl plibp Mnjhgyuluht 4/0 < hwn 330 240 79,2
33141143 Unlungb 250,0 Q< huwin 168 500 84,0
33141143 Unlungb) 1) < huwin 680 240 163,2
33141183 Ybpwlpdwl gnun, 66,86 G< hwun 44 600 26,4
33141211 Sbuwnwhsh gbpdwiht prnp < | hwm 2425 80 194,0
33141211 Unwnlujwluwl wwwih 2h$ nwanny 9L hwn 6,84 18000 1231
33141211 Owdlwwwlh < | hum 1,86 18000 335
33141228 Punhlunnp onwihti unbphjhquignuing N1000 < hwn 6900 12 82,8
33141228 hunhluwnnp gninpohny uwnbiphihqugnuing A< hwwn 4800 6 28,8
33141201 Puwlupjutp 9L hun 0 60000 0,0
33141202 Puwfupiubip 9< hun 2,8 20000 56,0
33711490 Mwhuywlwlubp G< hwwn 0 12000 0,0
32351230 Mgt dwwwybl 30%40 < hwn 0 4000 0,0
32351230 Nbuingbl dwwwibl 3040 < hwwn 3233 1000 3233
33141136 | Uuwhpwghnt Ywptanbip/wkph$bphy hwuwutihnipuwdp < hwin 0 50 0,0
33141136 | Uuwhpwghnt Ywipbunbip/wiph$tinphyy hwuwlbihnipwip 9L hunn 405000 21 8505,0
33141136 Uhypnlwpbntp < hwwn 0 20 0,0
33141136 Ltypndpypnlwphbnbp Q< hwn 0 50 0,0
33141136 Lbypndhypnywpebntp < hwn 189000 32 6048,0
33141184 Lbjpndhypnyuybip Q< hwuwn 0 30 0,0
33141184 Lbpndhlpnywitin q< hwwn 124900 13 1623,7
33141137 Pwinwjhl Ywptinp 3 L hwin 0 50 0,0
33141137 Pwniwjht Ywpknp OTW 9L huwin 0 5 0,0
33141136 Sy Ywpbinp 2 9L hwwn 0 70 0,0
33141211 Twunwlh Glignn Guiy < hwwn 0 50 0,0
33141211 Trwunwlih Gignn Yuy Q< hwin 3900 50 195,0
33111310 Honuiywn uinbln 4 < hwtn 0 30 0,0
33141211 Bibynnn nhpdwywn dwiwlwluynp uwppbipp G hwn 0 2 0,0
33141184 Ynpnbwp Jujbip 0,4-0,5q < hwn 0 120 0,0
33141184 bnpnbiwp Juiylip 0,4-0,5q, A< | hwmn 26000 50 1300,0
33141184 “npntwp Jujbp CTO < hwin 0 10 0,0
33141184 Ynpnbwp Juwjbp CTO < hwwn 40000 2 80,0
33141184 Ynpnuwp Juwjbp CTO 1 G< hutn 0 5 0,0
33141184 Ynpnuwn Juybip CTO 1 9< hunn 55000 2 110,0
33141184 “npnlwp Juybip CTO 2 9L hwwn 0 5 0,0
33141184 “Ynpnuwn Juybip CTO 2 Q< hwn 58000 2 116,0
33141136 Uhypnywpebinp inpntiwp wunph < hwin 0 5 0,0
33141137 Puntiwht Yuphinp gudpwpndhy < hwin 0 60 0.0
33141137 Fuinwht Yupbnp gudpypnbh; 9< hwwn 32000 30 960,0
33141137 Pwinuwiht juptunp gudpwpnhy NC Q< hwin 0 100 0,0
33141137 Puintiwht yuptnp qudpupndhy NC < huwwn 32000 50 1600,0
33141137 Punbiwiht wpbup gwdpwpngh] OTW < huwin 0 10 0,0
33141137 Punwht uwpbnp gwdpwpnghy OTW L hwn 32000 5 160,0
33141208 hunpunnubp $bdnpuwy (Yups) QL hwwn 0 4 0,0




33141208 huwpwnynwtip tdnpuwy (Yuné) QL hwn 10000 2 20,0
33141208 hlunpwnynwtip $adnpuwy (iplup) 9< hwtn 0 4 0,0
33141208 huwpwrynwtip $hdnpuwy (Epluwn) G< hwn 50000 2 100,0
33111310 Uit whiphdliphly §< hwwn 0 20 0,0
33111310 Uinbiin wbphbnhly %< | huwm | 250000 10 2500,0
33141137 Hhiwnwghnt Ywpbubp whbiphdtinhy < hwwn 0 50 0.0
33141137 Thiwinwghnt Ywptinbp whphbbphl 9L hunn 50000 25 1250,0
33111310 Munnpnhs wp Q< huwin 0 20 0,0
33111310 Minnnpnhs jwp 9< hwwn 9000 10 90,0
33111310 Minnnpnhs jwp Q< hwn 0 4 0,0
33111310 Ninnpnhs qwp QL hwwn 29000 2 58,0
33111310 Minanprhs wp < hwwn 0 2 0,0
33111310 Nunnnpnhs jwp b hwin 47000 1 47,0
33111310 Ninnnpnhs (wp Q< hwn 0 2 0,0
33191310 “ntwdl hwinwlyny 11d; thnpdwlnp L hwin 0 500 0,0
38431710 MNpwbin wwuinbiph < hwwn 30 1000 30,0
38431710 Ugunndwn whujbin wpnghl 10010004l < hwwn 7790 4 31,2
38431720 Mhujbinh dwypwnhp $hywpny K hwin 15,625 384 6,0
33141136 Lbpwpgulinwiht Ubpwplydwt Lwpbinbp < hwwn 0 100 0,0
33141137 Lbpwpquilinwiht Ubpwpldwt Ywpbintp < hwwn 5850 50 2925
33141130 Swipw wlwihgh ng uintiphy 1004; < hwwn 32 6000 192,0
33141410 Swpw wlwihgh uwnbiphy 1004 QL hwn 34 4000 136,0
33141202 EUS-h biblyinpnn, L hwin 50 20000 1000,0
33141202 Elahupnn wubnughu 9< hwn 1920 50 96,0
33141202 Bltiynpnn, dwlbpbiuwhl dudjogun < hwin 1150 72 82,8
33141202 Elinpnng wwuhy 9< hwn 28000 2 56,0
33141202 <nnuiigdwl jwp Q< hwwn 34000 1 34,0
33141136 Ywpbnbp dhquiht bnw6nin 206 9L huwin 350 160 56,0
33141136 Ywplitntp dhquiht bnwéjnin 18G G< hwwn 350 60 21,0
33141136 Huwplintip wuyhpwghnt 9L hwwn 103 1200 123,6
33141136 Hwpbintip tdpnitynndhugh bngwpunh nhyh Q< hwuwn 16500 15 247,5
33141100 | Ubhwlguujw oquwgnndiwl phup-tinhg quniyndtnph hwun 150 5000 750,0
33141142 Lbpwplyhsutip 50,0 < hwwn 90 3000 270,0
33141142 Lbpuwpypsutip 60,0 Q< huwin 100 800 80,0
33141138 Hwlnyw ppwpRYwdbwhu < hwtn 200 1000 200,0
33141138 “uwitynyw ppwiht Q< hwuwn 15000 2 30,0
33141157 Lownwiptbip b uwjpbin q< hwn 30 1000 30,0
33141112 Uwtinwuh uwlbinunghl < hwwn 7 10000 70,0
33141110 dhpwhwwbip/ Shuuwlwuy 30*20ud L hwwn 650 720 468,0
33141120 Ubindhsutip gL hwwn 80 1000 80,0
33141211 Swiig Gnnywdph < hwwn 10000 100 1000,0
33141205 Eunnunpwubiw| unnnduly duwiidtinnnyg 9< hwn 450 500 225,0
33141205 Eunnunpwhubiwg unnnduwly < hwwn 500 80 40,0
33191620 Suihsh pnine < | humn 1200 120 144,0
33161100 Eunnuhpwpnidwlul Yupnn wnbin 24GH < hwwn 15000 25 375,0
33191310 Yntiwdl hwuwyny 114, thnpdwnp < huwwn 579 500 289,5
33121180 Snundtinp unbunnulnuny Q< huwn 7000 80 560,0
33141121 Uhpwpnidwlwl phibp Mngrulunpt 5/0 K hwwn 670 180 120,6
33141182 pblwd (bnwdnpulh T-64 q< hwtn 6600 30 198,0
33141184 (anph nphiwdh hwlwt q< hwin 6800 30 204,0
33141182 B3nph npbuwdubn 9< | hwmn 4200 40 168,0
33141182 Npnduyh npblwdubip unbiphy K hwwn 1800 300 540,0
33141136 Hbunpnuwlwt Epwluwiht Ywpbnkp < hwwn 7200 50 360,0
33141155 tlhlqmpnuan.muwghn'u nuwliwl q< hun 1000 500 500,0
33191310 Pnpdwnplbip pnpnuhihljwnwhu Q< huin 60 1000 60,0
33191310 Pnpéwlinplitin wwuwndwub fwybunnpd 1,50 G< hwn 10 6000 60,0
33191310 Pnpdwtinph dby npwluwnpuwht fudnid 9< hwin 150 1000 150,0




33141183 2nln unwdinpuwhts L hunn 103 1000 103,0
33141211 Gnninh thwlwuny 9L hwwn 180 200 36,0
33141211 Mhybwubp ELU < hwwn 200 500 100,0
33141179 hudbljnndunnh hwywpwsdnt < hwwn 28 000 80 2240,0
33191620 fenunp 4S% 150*110 9L hwwn 2600 60 156,0
33711490 Mwhwwhiwlubp 9L hwwn 60 12000 720,0
33141157 Uhlypnunndh stinp < hwwn 1300 300 390,0
33191280 Nuwpwhhtiwgbnd dbnwnuwljwl ljwnuwwwp < huwn 21 000 3 63,0
33191620 Ywywl tlipddnn quitwihwpbp Q< hunn 1500 50 75,0
30232160 bipdwiht niwhs Eus hwn 500 000 1 500,0
33191480 Lbpwpydwl uwpp Ynbinpwunwht Ujniph Eus hwwn | 12 500 000 1 12500,0
33141202 Ejlwnpnn wubnuihl kU hwiin 1920 50 96,0
33141202 Eilwnpnn dwbipbuwht dud/oqun EUs huwin 1150 72 82,8
33141202 <nnuwugdwl jwp =¥1a) hunn 34 000 1 34,0
33141202 BleYwpnn. wywupy Lus hwwn 28 000 2 56,0
33141138 Hwlnyw ppwht tus huwin 15 000 2 30,0
33191310 “nuwdl hwinwlny 11d; thnpdwlnp Eus hwwn 579 500 289,5
33141142 dwubh ubpwiplhy [xa) hwin 25 000 3 75,0
33111490 £4U onwp dwpdtih hbnwgiwl lbinhly EUns hwin 2000 50 100,0
33141211 Upunwddhs Ynwaniywinnph Ubuwiquidw Swypwnhp tus hwwn 8 000 100 800,0
44311290 Lbpnpwhjblnpnn/ wwuhy Eiblywnpnn, Eus huwn 1500 50 75,0
30237475 Rbpuuwght wnhy EUs huwin 100000 2 200,0
38431700 Gnujwdpwpwiwliwl uubunubp Eus hunn 50 2000 100,0
33171500 byhnnipw| whqguiwgdwl hwywpuwdnt EUs huwwn 4500 250 1125,0
33141179 Pdaluywt hwywpuidniutin wlghngpwhuwih hwdwp Eun hwin 19800 480 9504,0
33141184 Utuwnnpnohs ninqnpnhy hhnpnghy -0,018 j EUS hwwn 16000 30 480,0
33141201 Puwfuh(utip uu hwwn 6 16600 99,6
32351230 Mgl dwwwybu 30%40 (N 100) uu hwwn 38500 15 577,5
38431700 Uhypninndh olinp N50 Ul wnntth 65000 3 195,0
33141142 Lbipwplyps 1g uu hwwn 20 5000 100,0
33141121 dppwpnidwlwl phy wnhypnwhytiu Uu hwn 315 312 98,3
34141173 Ubigpunniupy uu hwin 51 1800 91,8
33141140 Uuwhpwghnt Ywphnp uu hwwn 103 970 99,9
33791300 Popnupihywnwht thnpdwlng uu hwtn 60 500 30,0
33141149 bhuwnywhts wubnubip quplbipwluwhu uu hwn 200 250 50,0
33141149 bhunnywihl wubntibp Gpwluwiht Ul hwn 200 250 50,0
38431700 fetipdndwwwbu Uu hwwn 3400 70 238,0
31651200 EUS dwuwywytu5820 uu hwwn 900 450 405,0
38431700 Ewliunnp/ wpnpninnp wwpwqu Ul hwn 10 2000 20,0
38431700 Bninp 4S9 150*110 uu hwun 2600 20 52,0
24931500 Gpluwlhs uu hwin 8100 12 97,2
24931600 Yuyniuwgnighs uu hwwn 8100 5 40,5
33141183 Uinwdnpuwihls gnun. uu hwin 103 970 99,9
9221200 TMwpwphts Ul g 3350 40 134,0
35121290 Suhs SPO2 NEO 3 uu hwwn 15000 6 90,0
44611130 Lbipnywigtiph wpubunuup Uu hwwn 2550 20 51,0
38581200 Mtaunghih gbtbpwinnph Yapuhulpdul uwhy uu hwn 480000 1 480,0
Cunwidbup 550658,4
£hUbhULUL L3NNEN
33211450 Ujpnuwhu A< phiup 0 7000 0,0
33211450 Ujpnuwiht < phuR 11,04 1000 11,0
33211430 Upw wihjwqu < phup 0 2000 0,0
33211430 Uhw wihjwqu QL phup 169,8 1000 169,8
33211410 Uuyupnwuwdhtinunpwhiu$bpuwg AST Q< phup 0 7000 0,0
33211410 Uuyupunwwdhtninpwlu$bpug AST Q< rhiup 21 4500 94,5
33211420 Ujwhtwdhuninpwuubbpu ALT < pliup 0 8600 0.0
33211420 Uywtihtwdhunipwbiu$bipug ALT < phiup 21 5500 15,5




Phihantpht/Cunhwlnn W ninhn rhihnniphup npnpdwt

211140
33211 sk Hiimliiuton Q< phup 0 21000 0,0
33211140 Phipnnipht/Cunhwunin I ninhy phihnniphth npnpdwt wbup N6 10000 216.0
phiup-hwiwpuidnt
33211340 <tingnpht 9< phbup 0 8000 0,0
33211340 Lbidngnphu 9L phbup 585 800 4,7
Utinhwuppht MediScreen /Utigh Uk guniynqh
1
BERHNO wabinnbh npnodwl phup unnhwubinh hwdwpwsni " plaip Mes e e
PN 1Screen 9 GUAtYNQN, wpjul,
uyhwnwlynigh, PH.Ytwnnutbiph, inbuwlwpwn Yonh,
33211110 Uhwiphwinttiph, (Gynghwnttiph, nnn|nphtuhgbup b Q< phup 65,4 5000 327,0
phihnniuhth npnpuw phupe unphwubiph hwywpwént
CYAN strin yuununuunh hugly n
33211160 “nbwnhuh CREA-Col/ Ypbwwhtiptih npnadwl phup < phup 9,15 25000 228,8
33211160 “pbiwwnhUpt Yhtiwqu L phup 0 2000 0,0
33211160 YpbwinhUhl Uhlugu < | phup 150 1000 150,0
33211310 Bpndpnuyjwunhh npnoduils phup hwywpwdnt Q< phup 50 24000 1200,0
33211311 f3pnupnuywunhth npnadwt phup hwwpwdnt Uu phup 50 2400 120,0
33211150 Uhquiynie Urea-Col / Uhquiijniph phup - hwywpwén. q< rhup 0 15000 0,0
33211150 | Uhquujnip Urea-Col / U hquiyniph phup - hwdwpwént < phiup 21,7 7200 156,2
33211320 <auusnpun € dppouh bbb npuGulul o< | pbup [ 10296 | so00 | 8237
hwnbwpbpdwl pby T
Lewwwnhwn B Jhpnwh wbnhgblp npuwljwlwl
528,0
33211320 itk b Q< phup 66 8000 28,
33730 | <Fuinhn € dhpnioh wlunhqBUh - hulupbndut | phup | 10417 | 1728 180,0
___phup
asonazo | <vuennhin B uhpnih wlinhgbh huntwpbndut | - phup | 1375 | 1728 196,6
phup
33211130 funjbuwnbipn CHOLESTEROL /Cunhwlinip funjuinbiphth 9¢ —_— 0 4000 0.0
RbuR-hwwpwdnt
tunjGunbipn CHOLESTEROL /Cunhwlniy funjbunbphtp
1 00 21,0
33211130 bt 9L phup 2 10
33211130 tunjbuntipn) /HDL- funjbumnbipht QL phup 0 400 0,0
33211290 “wihnuwih npngiwl pliup-hwywpwdnt QL phup 0 18000 0,0
33211290 Swihnudh npngdw phup-huiwpwdm q< phiup 93,6 1000 93,6
33211300 “wighnuih npnadwl phup-hwiwpuwdnt < phup 0 3000 0,0
33211300 Ywighnuih npnodw Rhup-hwwpwdnt < phiup 21 1000 21,0
33691162 Luwwnphnui < phup 0 800 0,0
33211290 Lwwphnd 9L phup 319,95 200 64,0
Lwhwunpbwinninhghti-0 Anti Streptolysina-
33211260 | O/<wlwunptiupnnhght-0 npndwl phup-hwwpwdny phup 26,4 1500 39,6
S &h uAW C
nuw wpninbht-yn| Total protein-Col/Crnhwinip 0
SIS uwhwwlinigh npnpdwt phupe hwgwcgménu P 9 7000 -
Snunw| wpninbihli-ln| Total protein-Col/ nhwlniy 8
) 3000 26,6
i uwhinwlmah npnodwl phup hwywpwsny e pUuR i "
33211470 SpnwnUht/whun. uniptip/ 9L phup 0 1000 0,0
33211470 SpnuynUpt/whuwn.unipbip/ A< phup 322,8 500 161.4
MHudwinnpn $ulninp Cwinbipu Rematuoid factor-
33211240 lex/MMudwinnhnuiht $wlynnputinh npngdwils phup- L phure 25,68 2000 51,4
hwlwpwdny
33211120 Syniyng G-coligyningh npnotiwt paup-hwywpwdny < phup 0 25000 0,0
33211120 Syniyng G-collqynilingh npnodwl phup-hwlwpwsdny/ < phup 9,24 15000 138,6
S-nbwljinht wpnuinbiht-winbipu C-Reactive Protein-lex/C-
bl 25,68 15000 3852
3331350 nbwlnhy uyhnwlnigh npnadwt phup-hwywpwdnt s 4
33211230 MFN-Ywppnu RPR CARBON/Up$hihuh npnadwt phup- a< i 13 5000 165.0
hwywpwdny/
33211190 Snjhlynt wlinh-A /wpjub fudph I npngdwl phup Q< pbup 2.4 12000 28,8
33211200 Snibyint wtinh-B /wpjwy fudph 111 npngdut phiup 9< phup 2,4 12000 28,8
33211200 Snihjnt wuwnh-AB L phup 3,96 1000 4.0




Snihyinu wiwnp-Unuylin/ th D nbigniu hwdwlwpgh

<3 b 4, 12000 57,
HEST wwnhghih _npnodw phu s e i 2 ;
- h
33211210 Snihlint wlwnh-Unuybn/ rh C nbignia wdwlwpgh Q< gl 9 1200 10,8
wuwhghuh npnodwl phup
b TRIGLECERIDE b
sazrig | SPPabahni TRIGLECERIDEY bngihgbnrfimpmgia | —o |~ 1 ¢ 2000 | 00
phiup-hwywpwdn:
S b TRI E
33211180 | SrPHeghrhn TRIGLECERIDES/Gng|hgbnhinh npnpdurt 9¢ | plup 45 500 25
bup-hwywpwént
Mpnunuwn uwtighbhly whinpgbitih npwlwlwl npnodwt
33211330
valfe bup- huwiwpwdnyPSA ntinhuitin | 2 0 i
Mpnunwin uyybigh$hly wwnhgbUp npwlwlwt npnydwl
3
33211330 e il muies Bt < Rhup 127,5 384 49,0
33211350 (¢hpbinnpnwy hnpdnt HTSH AL phup 0 2304 0,0
33211350 fehpinnpnwy hnpdnu HTSH QL phup 135,63 1440 195,3
33211370 hpopuhts T4 A< | pbup 0 384 0,0
33211370 f¢hpopupt T4 < phup 171,875 192 33,0
33211370 Uquuwn phpopuhts FT4 < phiup 159,375 152 183,6
33211380 bnynnphpnupu T3 < phiup 0 288 0,0
33211380 Goynnphpnuht T3 <L phiup 177,083 96 17,0
33211380 Uqun tinnnphpnupt FT3 L phup 0 288 0,0
33211380 Uquin njnnahpntipt FT3 < phbuR 165 96 15,8
33211390 | Anti TG-Cwlywiwndhuutin Rhptingnpnyhlh tlundudp G< plup 165,625 576 85,4
PO
33m3gp | AiTPO <‘“”‘“°“‘2"ﬁ:\‘3mh"""“‘““°9“h"“‘q" o | poup | 1625 960 56,0
_Uuwwndwdp
33211280 Ppmgliingh npnopdwl phiup hwdwpwsnt A< phbup 0 200 0,0
33211280 Ppigtingh npnodwt phup huwwpwdnt 9L phup 240 150 36,0
33211170 sl UHCAC:LUTWZT" Y o 8¢ | phup 0 1500 0,0
___hwdwpwént
Uhquippnt UricAcid/Uhquppdh npndw ehiue-
1 31,4
33211170 BBt < pbup 26,2 200
33211430 SGwiddw gununwih| npwbubbpwou < phup 58,5 1000 58,5
Lwpnpwinnp wqnwlniptip/nbwgbtinibp/ Ttup
33691162 G 1 1,
Ynuitipnud puiptidwd wpniip npnatint hwdwn a g 318 4 ot
33691162 Lwpnpuinnp wqnuwtynipbin/nbwgbtntbp/ LDH-L 9L phup 0 2000 0.0
33691162 Lwpnpuwinnp wqnwuiniptin/nbwgblintibpn/ LDH-L < phup 24 1000 24,0
33691162 Lwpnpwinnp wqnunipip/ntiwgblnutp/ $nudnp < phLup 35 1200 42,0
33691162 Lwpnpwunnp wqnuunabin/nbwgblnutp/HIV- 2hUL A< phup 177,6 5000 888,0
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33691888 Ubtupp pnyinu Q< g 42000 1 42
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33691166 nn 2hqbinquihl wunppgyws whunnpnzhs ohndy ac i 30000 1 30
waynunhwghwih nbwlghwih hwiwp $itputtiph |-V
’~’|nn 2hglinquiht wnunnpgduﬁ wfutnnpnphs ohandy
33691166 | wqynunhtwghwh nbwlghwh hwdwnp $iputiiph I-ht Q& hwwn 45000 I 45
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wqynunhtwghwih nbwlghugh hwdwp $iputibph I iy




20 2hqbinquiht wnunppgywd whunnpnghs ohniy
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3363MED waynunhtwghwih nbwlyghwh hwdwp $iputtiph 11 npuy e huuin oP00 ! -
“nn 2hqlinquift wnunppgws whinnpnzhs Zhénig
33691166 wgynunhtwghwih nbwlhghwh hwdwn $ibputibph 9L hwn 30000 1 30
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Ann 2habnquihts wnunppgyuws whinnpnghs shéndy
11 1 45
e wqynunhtwghuih ntwyghwih hwiwn $ibputitph fudp,6 s D e
20 2hqbinquipt wrunppgUuid wiunnpnghs shéni]
33691166 wqynunhtiwghwih ntwlghwih hwdwnp $iaputtiph Q< hwin 30000 1 30
tudp.7.8
2np uwinubinquiht wnunppgywd wfuwnpnohs 2héniy
1 000
= wajinunhtwghuih nbwyghwih hwiwn ABCDE i fikin - : i
33691166 2np uwdntbiinquyht wnunppgywd whunnpnohs 2hémy Q¢ Kiiip 55000 i 55
wayinunhwghwih nbwbghwh hwdwp 04
33691166 2np uwpintbiinquiht wnunppgywd wfunnpnohs ohénd ac — 55000 ! 55
wagyinunhtwghwih nbwbghwih hudwp 09
33691166 2np uwpdnubinquiht wnunppgywd wfunpnohs 2hénily ac huin 39000 1 39
wagynunhtiwghwih nbwbghwih hwdwp 012
33691166 2np vwpdntbnquiht wnunppgwd mlumnnnzhg. 2héniy ac¢ G 39000 1 39
waynunhliwghwih nbwlahwih hwdwn Hi
33691166 2np uwdnubinquiht wrunppgywsd whunpnohs 2héinty ac — 39000 ; 39
wanunhtiwghwih nbwlghuh hudwp H gm
33691166 Ebiphfuhng whuwnnpnohs shéinly 026 9L hwin 0 1 0
33691166 Bbiphlubng wiuwnnpnohy shénily 055 Q<L hwwn 0 1 0
33691166 Ebiphfuhng whunnpnohs shéindy 0111 < hwin 0 1 0
33691166 Eobiphfuhng wiuwnnpnohs ohéinily 0157 AL hwin 0 1 0
33691162 <Gihynpwlnbinhw whinphh phiun 9L nnup 0 2 0
33691162 Eunbpndhpnup pbun Q<L nnuh 0 2 0
33691162 Euwbpnyhpnwh phuin Q< nntth 49500 1 49,5
33691162 Ppnigbingh nhwqtinuwnplynud <L hwun 2700 2 5,4
33691162 Ununtiniyjbingh  pbiuwn G< hwwn 0 2 0
33691162 Unununyiingh  phuwn 9L hwn 22000 1 22
33691162 Kobrfuhngh pbuwn (E. colf 0157:H7 9< | hwwn 0 2 0
hwinbwpbiptint hwidwn)
33691162 s2tmnluhrici i { E. colt GIE7:R7 a< | hun | 45000 1 45
hwijnuwpbipbnt hwdwn)
33691162 menhmdﬁgymtr} Q< Lg 2000 1 2
33691162 UGwyuwinwlutp opuhnwquiny QL hwuwn 100 200 20
33691162 Buwgquph snp wjwgqdw QL wnnuth 27240 1 27,24
33691162 bhipdbunwinhy whwwnnt QL Lg 20000 1 20
24211140 0G-6 pgowjhu ubply anp@gm.nnmqhwjh huidwp 5000 9L hunp 0 2 0
24211140 0G-6 pgowhts utiply Ynynghnninghuyh hwdwp 5004; < Lhunp 32000 1 32
24211140 Lbdwwinnpuhih Lwphu-peeuwht tbipy 5004 < {hwp 0 2 0
24211140 Lbdwwinnpuh i Kwphu-pegunht Ubkply 5004 K hwp 40000 1 40
Mnihppnd EA-50 pggwiht Ubinly Ynwynghinninghuh 0
24211140 hwdwn 5004 < thup 0 2
2421140 | iR EA-50 posuipl Wl Umpynghunynghas o T T 1 19,8
hwdwp 5004
3321250 | Ol ““'h'"“’“c';fa':';‘ff“‘t’ Ruvghudwpmint | oz | wmep | 100600 5 504
33211250 CFAS wpninkihts cobas c111 9L winuh 0 2 0
33211250 CFAS wypnuinbihlu cobas cl111 Q< nnuh 72100 1 721
funnnywljubip bwuwnbudwd nbwgbuntbph day 0 10 0
ki bty hwdwp cobas i1l hwdwn sl e
33691162 funnniwlubp bwhiwnbuws nbwgbbnbph kg ac ik 20900 5 104,5
wnbnwnpbint hwdwp cobas 111 hwiwp
33691420 Uhuh Ynyhiljn XP-300 Q< hwwn 90 5000 450
Sujhsh eninpe bwhiwnbujws
0 100 0
43691160 cobas c111 uwnph hwiwp ¥ tnth
33191310 Upjwit tdnpwindwt Ywynudwiht thnpdwtinp < hwin 5000 0,0




33691420 el 1 Cartridge 600 Eus hwwn 240000 1200,0
33691162 | Lywgnn hbinniy cleaner cobas Mwbwihquunph hwdwp | EUS hwin 14100 70,5
33691162 Yptiwnhuht npnadwt phiuwn hwywpuwént LUs hwn 15500 10 155,0
33211280 | Ppnighingh npnpdwl phup pun Mwp hubmbiuntip 24; uu huwin 2800 2 5,6
24321860 Ugnuwlwl ppnt uu thwp 2500 4 10,0
24321240 U-puhn|-Yuswiynip Ul lhwp 38000 2 76,0
Uhunwhuwths htinniy umigtip /nhntighinhubehjwdnupnuih
24451141 pinphn(UU)- 3,5%, N,N-phu-(3- Ul | gap 10000 12 120,0
wdhunwpnwhpnnntighjwiht -5,5% (Swgaunpd) :
24451141 Uhunwhwlihs htinniy bniptip/$nunwpwintihhn 20% ™ g 19800 18 356.4
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wihjwqu,wpnunbuqu), dwybinlnypuht winhy Ynyetp
(Uuhnghd XL3)
Ufuwnwhuwthg hEnnd Uniplp
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24311530 2nuwidtih whipopuhn Uu | jhun 1000 100 100,0
33691162 Uwnpndwwnnwjglip-WH XP-300 Uu hwwn 40080 2 80,2
33651143 Unwppent uu thip 2500 1 2,5
24951400 hdbipuhnt jin 1004; uu hwwn 4500 10 45,0
33121270 Lwlwphnnhljwiht ufwywnwlubp Ul hwn 25 2250 56,3
33211500 <hjhynpwlintp uu hwn 1000 25 25,0
24321250 Luhing uu [hinp 2500 60 150,0
24211150 Snwbynipbip hhuwnininghwljui uu hwn 9000 4 36,0
24211140 Lkdwwnnpupghu Jill 1l Uu {hwap 28000 2 56,0
24321311 Panwnpnujh| uwhpun uu hwp 2500 20 50,0
33691163 Eunnwquwp uu g 60000 0,5 30,0
33691874 Uqwp dwlhui-wnwihu uu Yyq 47000 0,5 23,5
33691879 Uquip Ujnyyip <hupnuh uu lq. 66000 0,25 16,5
24211210 Lbplwtynys Uw-Spintwin uu [hinp 13500 1 13,5
24211210 Lbipyuwiynie Mndwunyubh Shdqus uu |htnp 12600 2 252
33211320 Lbwwwnhwn B hwjinuwpbpdwt wpwg phun Uu hwin 250 40 10,0
33141176 ahU<-h hwjintwpbindwl wpwg phun Uy hwwn 500 40 20,0
33141212 Snhnipjw phuw uu hwwn 80 10 0,8
33141143 Ubwph$hlwinnp uu hwn 9 200 1,8
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30197620 [dninp, A4 $npdwinh 1/21x29,7/ < hwn 1600 550 880,0
30197620 @ninp, A4 $npdwinh 1/21x29,7/ UU | hwmn 1600 55 88,0
35821400 "Hpngubip uu hwn 6000 6 36,0
30192739 fanue, A4 Hnpdwinh gniiwnp Ul hwin 1500 10 15,0
30192780 Eowilipwt Uu hunn 300 100 30,0
22811190 Uwhinwpwlwl gppnt uu hwwn 100 400 40,0
[Ompwuwlwlubp, npnbn erpbnp Uhwgynud bu
22851200 couiiltbnmd i winulbp/dtd/ uu hwin 1000 25 25,0
39263200 Spwubljwluyht ghpp uu huin 1200 20 24,0
22851200 [Enpuuutwl uu hww 750 30 22,5
22851200 Bnpwuywlwl uu huwiwn 400 50 20,0
22851200 enpwuwliwy uu hwwn 200 50 10,0
22851100 Upuiqulwputp uu hwtn 180 160 28,8
22851200 Anpuywliul,wnhibpwiht punutp, Huy uu hwin 13 12000 156,0
30197220 “wphsttip, dhusl 20 phpph hwdwp Ul huin 650 10 6,5
30197220 Ywphgubip, dhtsl 20 pbipphg wyb Ul hwn 1600 5 8,0




30192111 f[Gwlwp, punwdwh, pupshyp Uu hwwn 400 50 20,0
30192121 Sunhlyunjnp gphs uu hwin 100 1200 120,0
30192125 Uwnlytiputip uu hwin 200 50 10,0
30192125 Uwwhwnubp uu hwin 100 400 40,0
30192133 Uphsutip uu hwin 300 30 9,0
30192160 Gwphjuutip uu huwin 250 150 37,5
30141260 Lwphs-npwdwplynuiht dhpbuwutiph Jwwwybutbp uu hwn 150 1000 150,0
42416700 Pwqlwpnn gpuubljwluht uu hwn 30000 3 90,0
30192100 Mnht hwuwpwl Uy hwn 100 20 2,0
30199710 Opwpubip uu hwin 15 4000 60,0
30197100 “wphsh dbnwnuwpt Ywubin.thnpp uu hwin 100 200 20,0
30197112 Ywnhsh dbnwnuywnt Guwbp,dhoht uu hwin 200 200 40,0
30194810 Luwunuubp uu hwin 200 20 4,0
Nnjhdbipuht hupbwlwsnit dwwwdbu, 486dx100d
30192210 ittt i uu hwn 1100 20 22,0
30192710 Unutidwdwinpwn, gpuubtywluht uu hwwn 400 400 160,0
39141100 Uduwgpbiph nwpwljubp uu huin 4500 5 22,5
30141200 Lwzqwuwinp,gpwubitwljwihu Uu hwwn 4500 5 22,5
30199400 Unulidwuwinyuwd Guid Yusnit pringe Uu hwun 200 30 6,0
30199400 Unutidwuywinywd Ywd Yugni pnine uu huwin 250 30 75
30199430 fdninp Upnwbiph, inpguljubipny| uu hwin 1500 50 75,0
22811130 Opwinbinp uu hwwn 3000 10 30,0
39263600 Snswinnuh, gpwublywlwih uu hwun 600 6 3,6
30192111 Gwlwph pwpdhljubp uu hwin 350 10 3,5
39221490 Uwniuqubin uu hwwn 300 10 3,0
39111140 Upnn Ul hwn 12000 5 60,0
39111180 Upnn gpuiubljwlught UU | hum 80000 2 160,0
39111180 Upnn gpuwubtywluwjht Uu hwwn 30000 18 540,0
Cunuwdbup 3107,9
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24451141 Ufunwhwunn dheng 1y < hwwn 700 200 140,0
39831280 Uwjwlh dwpnbjnt htinnily < hwwn 400 300 120,0
39221410 Uyt < hwtn 1050 20 21,0
39221400 Uyt - uwyny < hwn 3000 90 270,0
39221350 Pudwlw dhwliqudjw oguiwgnpdiwt < hwwn 5 8500 425
39224331 "y 10 | AL hwn 700 10 7,0
39224331 “tny| 51 9< huwin 500 10 5,0
39224333 Tny| danwnw / ghtywywn 10 | Q<L hwwn 1500 12 18,0
39713410 "ty 24wppuwiny < hwwn 4000 10 40,0
33761100 2niqupwlh pnine 9< hwn 100 660 66,0
33761100 2nigunwh pnue 2 sbpn Q< hwun 150 3600 540,0
39221420 2niqupwitih unquitiuly < hwin 800 120 96,0
33761400 f3npb wudbinnghl biplkipn / z- wal 21 ud/ < hwtn 800 450 360,0
39513200 3Rt uwywl hhywtinh htnwgnndwu E hwin 3500 60 210,0
33761300 f3npt upphs funhuiingh 2 stipwn < hwwn 350 500 175,0
39831283 PupUwdwpphs nnyjh onp < hwn 500 50 25,0
39831243 Lywgph thngh Q< g 800 750 600,0
39812410 Ywhnyph jwp < hwuwn 700 12 8,4
39221400 Ynnn 1| 9L hwwn 600 40 24,0
39713410 Swinwly duippnn puptwdwpphs nny; /pwidynn/ QL hwin 8000 35 280,0
39831283 Cwunwyh jwpe pwdpwljw q< hwwn 1300 120 156,0
39835000 Cwinwbh thupn 9< | hwwn 1200 40 48,0
39831246 <bnnily cbwn QL thwp 500 1000 500,0
39831246 <bnniy obwn 0,33 QL hwin 500 10 5,0
18141100 Atinung nbnpub <L hwin 250 1100 275,0
39831241 Qlinph ofiwn Q< hwn 220 350 77,0
39221400 Uhypndhppw 9L hwin 400 10 4,0
39531800 Lwjuwdnunph gnpg <L hwtn 2500 10 25,0




34921440 Miwundwub nwppw Ywihwphsny / Ynp funpp 80, < hwwn 7000 4 28,0
34921440 Mwundwub nwppw Yuthwphsny /punwlilyni 101 < hwin 2300 15 34,5
34921440 TMwuwndwub wwppw Guhwphgny /punwtlnit 2y < hwn 700 5 3,5
34921440 Mwundwub nwppw Gugwnphsng /punwlilyni 40; QL hwtn 4500 5 22,5
39221400 Mpwundwub nwppw Yuhwphsny 60; Q< hwwn 7000 14 98,0
13641000 Mnjhtphibbwhl ywpl pwihnth 60; 9< hwn 200 1000 200,0
19641000 Mnihtphibbwiht wwpl pwihnup 120 L hwin 300 50 15,0
19641000 MNnjhbphibtught wwply wnph wwpl 30 | 9L hwwn 300 1150 345,0
39831246 Uwlhwugnyg dwppbint nwhupw < hwin 330 820 270,6
33721100 Uwihpbynt wdtih < hwin 150 2000 300,0
39221400 Utinwuh jwp < huwin 150 100 15,0
39831278 Uwywuph [Jwgdwu hannil L lhwnp 350 2250 787,5
39221490 Uwynitg wynudhtli dhiny/ denwnwlwt uwynitiq L hwwn 150 330 49,5
39831240 Linp /dwuty QL |hinp 130 6500 8435,0
39831240 Pinp 1) /oy Q<L hwwn 250 200 50,0
39811300 Onh pwpdbignighy 9< huwn 450 220 99,0
39518300 Uppwpnidulwl uwwlikn (1,500x2,200) tUn hwwn 2500 400 1000,0
39518300 Yhpwpnidulwl uwywhiibp (16x1,104) tun hwwn 1500 350 525,0
33191650 Pdolwljwl hugnuy/ uwuwp Eun hwin 8000 300 2400,0
19641000 Mnjhkph|buuyght wwpl puihnth EUs hwwn 180 4000 720,0
39831278 Ujwup Jutiwnt_hbnniy EUS lhwnp 350 1000 350,0
39831240 £inp /dunfs EUS | (pup 110 4000 440,0
39713410 Swnwl dwppnn huptiwiwpnhs nny; /pwiinn/ tus hwin 5000 30 150,0
24961200 Lnp 1| Ul huin 150 660 99,0
39831210 Uwjwup 1. htigndy 1 uu hwwn 300 333 99,9
39831240 Uwuhwlgnyg dwpitint dhe nwhuow uu hwwn 300 330 99,0
33761100 Rniquipwih pninpe 2 stipn uu hwwn 150 665 99,8
33721100 Uwithpbint wdhih BIC uu hwwn 130 765 99,5
39513200 fgnpb uwywl hhjutinh htiwnwgnundwy uu hwwn 3500 28 98,0
44611130 Bpywduh funtwyuignighy uu hwn 6000 100 600,0
44423680 (3eywdlwiht hwiwhuwpgh dwu (dwhuuwswih) uu hwwn 28000 25 700,0
18531100 Lytipubip uu hwwn 3000 333 999,0
39831243 Lywgph thngh uu g 800 100 80,0
31161240 Ynunwljhsubip Uy hwn 145000 3 435,0
38311100 Eflpunpntiwht Yobnp Ul hwn 1960 1 2,0
38311100 Blunpnuwht Yobing uu hwtn 12000 1 12,0
39515440 Chpuwywpwgnyn ninnwhwjwg uu 5 6500 76,45 496,9
39515420 Chpuwywpwgnyn nuipquhwijug uu i 15000 8 120,0
42911180 [Gpyudtih Supwlwjwuh qups thwlwlng Uu hwwn 290000 1 290,0
Cunwdkup 17216,0
UV ULUMrGh2LLR,LUU ULUNGUSBPL UUPAUMNPNRUTLED L MUPUGULGE
30211230 Lwdwlwnghs pwlwqy wnwug dnbipnnp < hwn 119840 15 1797,6
30237490 Swdwlwpgsh dnupnnp QL hwn 38940 20 778.8
30239170 Pwquiw$nitlighntiuy jwgbipwiht wughs / gwlgwht A< hwwn 230000 6 1380,0
30239170 Puquwhnitlighntiw jwgbipwiht wwhs / ng quligwiht 4 hwwn 110000 3 330,0
30232231 Sundwlwpgsh Ynow ulwwnwly /4TB L hwwn 40800 2 81,6
32421100 Switiguht dwinifu cat 6e L dbwnp 0 2135 0,0
32421100 Swuguihu Jwinifu cat be 4L dtinp 128 1220 156,2
31321110 Stuwfughlip duspnifu 9L dbwnp 0 1000 0,0
31321110 Shuwfughlh dwnifu 9L dbwp 152 500 76,0
31321110 Wbhwdwph dwiniu 3L dbinp 0 300 0,0
44322300 Lbnwunup dwnifu < Ubwp 55 500 27,5
32551150 Luwthnnh ywp Q< hwwn 300 20 6,0
30237132 Suyhgh qp (USB) < | hwmn 1500 15 25
32421300 WiFi uwpp had hwwn 6000 10 60,0
30141380 RFID shy < hwun 300 200 60,0
30141380 RFID shy dwjuwgpinn QL hwin 400 200 80,0
30216200 RFID shujh dwjuwgpnn uwpp < hwtn 14000 1 14,0




30141380 Ricoh325sfnw puppphsoh shuy 8% hwn 0 10 0,0
4322200 | <wdwhuingguhu ”""‘9‘(’2“;;\‘/‘;“"9"“ bttt [ o T i | a4 100 348
30237112 Cwdwluwpgsh hnuwph ubingdwl uwpp < huwwn 4380 20 87,6
32421300 Swuguwjhl pwdwwpuwn < hwin 3900 20 78,0
30197231 TYhulh puy 9 | humn 9,6 5000 48,0
30237460 Unbnuwgwp Q< hwtn 3000 20 60,0
30237460 Uwnbinuwpwn whjwp q< hwn 8760 3 26,3
30237411 Cwdwluwngswiht d4upy G< hwn 1560 20 31,2
30237412 Swdwluwngswihl uhuhy wljwn Q< hwwn 3600 3 10,8
30232231 Yngun ulwywnwy SSD QL hwwn 8199 10 82,0
31681150 <hannnuajwts dhlypnufubdw 24C32 < huwin 1000 10 10,0
30237113 Rj45 Untblunn 9| hun 21 1000 21,0
30237111 Utinigdwts dwpinlng 9L hwwn 12800 3 38,4
31151120 Ubfuwthwl ubngdwl uwpp 9L hwin 48800 3 146 4
30232231 Upnwpht Yngwn ulwywnwl 9L huin 51000 2 102,0
32324900 Lbnnwnwgnyg 9L hwwn 51000 20 1020,0
31221270 Ushwywph pwdwbwpwy 9< hwn 2200 5 11,0
31221270 Ujbhwwiph dhuignulutip < | hwm 200 30 6,0
31221270 Ujhwyqwph dhwgnufubp < hwun 200 30 6.0
44322100 Uwiniu hwdwlupgsh, UTP cabel uu Ubnp 190 305 58,0
Clunuibj 6747,6
Chuwpwpnipjwl by oqunugnpéynn quitwqul wypwplibp L Wynipbp
44111412 Ukpngn utipy s hwwn 800 50 40,0
19121700 Uphbunwlwt Yuoh 9L qd.u 6000 30 180,0
39837000 Uyt wnsny / puljh Q< hwin 2500 10 25,0
44511110 Pwh funpp q< hwwn 1500 3 4,5
42415220 Phntwuwyul) < | hwmn 18000 3 54,0
42415220 PlnUwuw)wlh wuhy < hwin 3600 3 10,8
39241130 Mubwlubp preh < | huwn 1500 10 15,0
39241130 Thubwlubin pnph /|liquh/ <L hun 40 300 12,0
42121270 “Hhunwhnph wndw Ynjninny/rayunnii F50 < hwn 75000 2 150,0
44221141 “Hwil pnbiwly S hwwn 1200 30 36,0
44423100 "wl quitig Hblnpwljwt Q< hwn 2000 2 4,0
44521120 “Hwb thwlwt bypnnnwl q< hwwn 3000 50 150,0
44521121 TFnwl thwluith dhondy 8 ud < | huwn 2500 70 175,0
31711160 Elaywpnn utipdh q< wnnith 300 30 9,0
31711160 Elblpwpnn 2,504 9< hwtn 40 150 6,0
31681900 Elulnpwluiti wynuhs (nnky < hwwn 40000 1 40,0
44423680 fpdwdtih Ywpgwynnhs 9< hwwn 8000 10 80,0
30192232 huptiwlugnit dwwwyb (oht.) GL hwwn 600 20 12,0
44820000 Lwp bunwpwbitibph 9< lig 5490 5 27,5
44423680 Lbuwn shtwpwpwljut Q< hunn 1500 5 7,5
39299320 Lnqupwh huybiih wnwitig opowtiwlh Q< hunn 5000 5 25,0
44831500 Lnidhs 5 9< hwun 5000 1 20,0
44411300 Lywgupwu q< hwwn 25000 5 125,0
44423680 Onuh bipn nnwl < hwn 700 100 70,0
42131470 Onpwlh dbwn. dwubp 9L hwtn 1490 8 1,9
39132220 Ywluhy 9L huwtn 200 60 12,0
39151220 Hwhnyph dwubin /wupy uhnyph/ g huwwn 200 100 20,0
39151220 Ywhnyph dwubin /wbiyniwl bplwppw ginpp < hwin 40 100 4,0
39151220 Ywhnyph Jwubp /pnlwly Q< hwn 300 30 9,0
39151220 “whnyph dwubip Mwpwlwwwhhy/ 9L huwwn 1500 30 45,0
39151220 Ywhnyph dwubp /Snuh/ 9L hwn 300 100 30,0
39151220 Ywhnyph dwubip /nng/ < hwwn 1100 50 55,0
39151220 “whnuph dwubip fhwlwt/ G< husn 500 70 35,0
44521100 Ynnuytip G< hww 2000 3 6,0
44531193 Ynjnunnt wulyniuwly 9L hwin 700 20 14,0




44163200 Ynjninnt wlignu < hwtn 700 6 4,2
44163200 Ynjninnt bnwpwifuhs < hwn 1000 9 9,0
44163130 Unjninnt funnnyuly F110 0,25 d 2,204 9< qdu 450 5 2,3
44163130 Ynininnt funnnduily F110 0,250 1,540 < qou 300 3 0,9
44163130 Ynynunt funnnduly F110 0,5 o 2,500 < qdd 900 5 4,5
44163130 Ynjninne funnnywy FI10 1 4 2,500 < qou 1500 5 7,5
44163130 Ynyninnt funnniuy F110 2 4 3,204 9L qdu 2700 5 13,5
44163130 Ynjnunni funnndualy F110 3 1 3,240 9< qdd 4000 2 8,0
44163130 Ynyninnt fungnywly F50 0,34 1,500 9L g 280 3 0,8
44163130 Unynunt funnnduily F50 0,54 1,500 < qdu 350 3 K
44163130 Ynyninnt funnndwl F50 10 1,500 Q< qdu 550 3 7
44163130 “njnunt funnndwly F50/2 14 < qdu 850 8 6,8
44163200 Ynyninnt fuguis < hwin 400 < 1,6
44163200 Ynjninnt dnipn A< hwin 320 6 1,9
44163200 Ynjninnt nupghw F100 <L hwin 2500 5 12,5
44163200 “njnunt wnnu 5 dbnpuiting 9L huwwn 2000 2 4,0
44112730 Yunpnn uhwdwnwly G hwwn 700 50 35,0
44511700 Lwppuwgnipp 9L hwwn 2000 4 8,0
24911300 Chinnily dbfu 9<_ | hwwn 800 20 16,0
44831300 <apdbinhly wyunnlundp gbpdwlwniu < hwn 1000 10 10,0
18141100 binling pwlynpwlul 9< qnyq 300 100 30,0
39839300 Quit phul < | hum 5000 6 30,0
39541170 Bnwywu Q< dbnp 300 70 21,0
24311500 Ut unuhté 100q <L hwin 2000 30 60,0
44191700 Ubinp 5d 9< hwwn 2000 3 6,0
9211620 3nun 2 nwlunwuh 1; AL huwin 2500 3 7.5
44423680 Lwuwiinyu Shgninth s hwwn 300 10 3,0
44111413 Ubiply wgbinnbught hhdpny kubhd Yud hwidwpdtp 9L g 4000 25 100,0
44411740 Luwnwlnup 9L hwun 35000 5 175,0
44411740 Lunwlntph w). Yuthwphs 9< | hwwn 4000 50 200,0
44411751 Lutnwlintiph gnh wwpwih Ynduyibln/pwsnlh 9L hwtn 5500 60 330,0
44521100 Cyligwp nnw Q< hwwn 10000 10 100,0
42131100 Muwwnthwth thwlwl Gpn 9< hwwn 600 100 60,0
44423650 Muwyih wynihdbpuwht (nbwnput dwwywybuwpehbp) < hwin 600 20 12,0
31221242 M| nynuyliy /60°40 9L hwn 6 1000 6,0
44163121 Ny, funnnguwly F20 $njquswuuin < qd.4 500 40 20,0
44163121 M. funnnyuly F25 Snjqujwuywin QL gd.4d 710 40 28,4
44163121 M. funnnyuwly F40 $n|qujusgunn Q< go.d 2000 12 24,0
42661200 Ny funnnywih gt vwpp Q<L hwwn 20000 1 20,0
44531191 Mnuéjw funnnduwly 0,844 9L gt 1500 60 90,0
44531191 Nnudjw fungndwy 0,224 9L qdd 4500 120 540,0
44163200 Nnudjw funnnyulh whlyniuwl 90 , 0,84 9< hwwn 500 20 10,0
44163200 Mnuéjw funnnyulh wulniwly 90, 02201 < qod 800 25 20,0
44163200 Mnudjw funnnyulh bnwpwtuhs 0,220 A< hwn 1500 6 9.0
44163200 Mnuéjw funnnjwlh nwpwstuhs 0,844 QL hwwn 1500 10 15,0
44163200 Mnudjw funnnywyp gnndwl wnhuyn) < hwwn 400 30 12,0
44163200 MNnudjw funnnqwlh Ygwdwu 0,220 <L hwn 500 50 25,0
42121150 Mndy q< huwwn 16000 5 80,0
44191700 Mins piniligh < huwin 1200 20 24,0
44191700 Ming pwhh < hwun 1000 5 5,0
24911200 M4YU unuptis 0,94g S< hwn 1500 5 7,5
44531160 Munnunwly/ cemeura < huwwn 3 2 000 6,0
44511330 Munuwnwlwhwh hwjwpusdnt §< hwwn 8000 5 40,0
42131170 Qbnnigdw hwljwl XK hwwn 1500 85 127,5
39721510 Qpuinwpugnighs < | humn 50000 2 100,0
42131170 2ph thwlwl / 3/4 L hwin 2000 10 20,0
42131170 2np thwlwl /wnln G< hwtn 2000 30 60,0
44411110 2ph fuwntpswiht dnpwly 1 nbinuuh < hwn 3000 100 300,0




44411120 2nh dnpuwly bpyinbinwuh < hwn 10000 30 300,0
44411120 Rph dnpwy Gplnbnuwih wwnh Jpwih < hwin 10000 20 200,0
44163170 Mawnput funnnul dhmuér(l)n;{dwdpqunt{tué Glyunn, bply ac adi b 150 150,0
44163170 fHanhtb funnndwl uhjhlynuhg 9L qdd 600 100 60,0
24951130 Uhyhnti 2804} pusthwtighly < | hun 1000 120 120,0
30192233 Uhihlintib puipwly &nnhly Q< hunn 150 20 3,0
42131490 Uh$nty/ tipwpeny 9L hwtn 1200 100 120,0
44191700 Uthpbij-punip niuhibpuwy Q< hwwn 3000 2 6.0
24911200 Unupud Ewnpupn 6 4; L | 1000 5 5,0
24911300 Unuhtid bwhphpe Ywd hwdwpdtip < L 2600 2 5,2
24911500 Unuhtd pwiph 0,8lg. < | hwn 4500 2 9,0
44192100 $pthnip ohtiwpwpwljwt 8504 L hwin 2000 20 40,0
42511124 Onwugph Swnupwp < hwin 800 25 20,0
39714100 Onwthnfuhg Q< hwn 7000 4 28,0
44511330 Ll wununwlwhwl 20V G< huwin 40000 3 120,0
44511370 Bl wunnunwlwhwh gifuhlubp 9L hwwn 400 10 4,0
43121190 <npwinhy < | huw 50000 3 150,0
44511400 <npwinhsh quyhynt F5 < | hwwn 600 10 6,0
44511400 <npwnhsh quyhynu F6 9< hwwn 800 10 8,0
44511400 <npwnhsh quyhynt F8 L hwun 1000 10 10,0
44511400 <npuwipish quyhynls F10 A< hwwn 1200 10 12,0
44511400 <npuinish quihn F12 < | hwn 1500 10 15,0
31641217 Sndpbh ubndwl F16 < hwiin 20 200 4,0
31641217 Snpbih ubindwl F20 9< hwwn 25 200 5,0
44511100 Ubuinwnh dypuwin QL hwun 3000 3 9,0
44511370 Fuwpnngubiph hwywpuiént QL hwn 3000 2 6,0
44191700 f@pqwdup Ywpqwnphsh dhounhp < hwwn 100 100 10,0
44411110 2nh dnpwly dbly wnbnwuh 9< hwwn 3000 100 300,0
44191700 Uhpwin wwuwnhl funnnywliubip upbng Q< hwin 5000 2 10,0
44191700 Luwnwynuph gn$pb 9L hwwn 2000 10 20,0
44112800 Slwhunnnyuly < hwwn 1000 40 40,0
31683400 Mwuwhy funnnywlih Ygwdwu / inuwpwotuhs 172 B hwwn 100 50 5,0
44163200 Mwuwnpy funnnduilih hgwdwy/ wulniuwl 90° 1/2 < hwin 100 100 10,0
44163200 Miwunhly funnnywlh Ggwiwu/ wugnud  1/2 < hwwn 50 100 5,0
44163200 Mwuwnhy junnagulh Ygudwu/ wllyniiwly 45° 1/2 Q< hwwn 100 60 6,0
31683400 Mywuinhly funnnduibih Ygwiwu / bnwpunfups 3/4 G hwwn 150 30 4,5
44163200 Miwuwhl funnndulh Ygwdwu/ wilynwl 90° 3/4 q<L hwwn 100 50 5,0
44163200 Udbphlwtlw wiwuwnhl funqndwlh 172 /dwiw < hwin 1000 30 30,0
44163200 Udbiphywllw wjwuwnhl funnndwlh 3/4 Awdw < hwwn 1200 20 24,0
44163200 Mywunhl unnnduibh Ygwdwa/ ZL 172 FAduidw 9< huitn 500 50 25,0
44163200 Mywuwnhly funnnywih Ygwdwu/ wlignd 172 F/ dudw 9L hwwn 400 50 20,0
44221141 “tw pnuwl wynuwhtib 9L hwn 6000 15 90,0
44221141 “nwl pnuwl bpywpiw Q<L qnuq 3000 10 30,0
44521120 “twilt hwlwlp ndwbyn hwjnjuw < hwwn 10000 10 100,0
44531110 Mununwly thwynh 50 Gl < hwin 10 1000 10,0
30192230 Ulyns Epyynndwuh < hwun 1000 20 20,0
31221241 “Ynipti ghwub unjwpwpeneh/ nnn Q<L hwin 30 1000 30,0
44161160 f3pyuwdlh pwndp Glpdwl funqnduwly 90 ud Eus huwiwn 40000 20 800,0
44161160 (de|wduh pwpdp Lol hwtgnygutinh hujwpuwdnt Lus hwwn 11000 20 220,0
35111130 Upwldwnhs 5 g EUS | hwn 8000 30 240,0
35111130 Ypwldwphs 8 Yg =¥} huin 9000 4 36,0
35111130 Ynwldwphs 10 Ug EUS | hunn 11000 4 44,0
39224550 Pnjuwtighly dwtil Euns hwn 3500 8 28,0
44163300 Pnnpuly EUs hwwn 4500 8 36,0
44163170 Spabthwiht hwiwlwpgh thnnwl 2w/ EUB hwun 25000 8 200.0
42418100 Ybpbjwyh Shwwt uu ubnp 1050 152 159,6
44221140 Uynwihtb plipdnywdpswlny nnin uu I} 120000 4,8007 576,1




44221100 Uynuihtbi plipdnyuwdpowlny wwinnthwl uu J 90000 4,1966 377,7
44221100 Ubnwnuwwub wwunthwt uu hwin 25000 1 25,0
44221120 Uk thwplp bplpbipn Ul W 10000 2 20,0
44531191 hunnndwy funpwbiwpnual Ul v 1100 90 99,0
44551100 Ruuwitily Uy hunn 800 100 80,0
39522290 Gypnwywinnthwliibiph dndwlwwwyinwwu guitig uUu hwn 7000 14 98,0
Clinudbp 9642,4
ELBUSPULUL UULLUYNPARULER, MUPULGULET, SNPOhRLER
31531660 Lbin jwdw E27-30W 9L hwwn 730 30 21,9
31531660 Lbn qudy E27-50W < hwin 1380 30 41,4
31531660 LED ywduy Utipnpynn < hwin 1200 50 60,0
31531660 LED wiwy tbipnpdnn L hwwn 4167 300 1250,1
31531660 LED (wduy wpinwipht 9L hwn 6400 300 1920,0
31531660 LED jwiy wpunwpht < hunn 1850 30 55,5
31531660 LED jundwy wpinwpht Q< hwwn 3810 70 266,7
31531660 LED judy G< hwwn 410 150 61,5
31531660 LED qudy < huin 1080 100 108,0
31531660 LED jwdy < hwin 280 300 84,0
31512300 Lwdwy ghpbljuht 3£ hwn 600 50 30,0
31512300 Lwdy ghipbljuyht §< hwn 1800 50 90,0
31531210 LED jntuwinne 220V 100W A< hwn 4800 10 48,0
31531210 LED |nwwwine 220V 150W < huwwn 8496 10 85,0
31531210 LED jnwwnnt 220V 60W 9L hwn 3300 60 198,0
31531400 LED gwh 220V 120W Q< huwn 85000 2 170,0
31512300 Swnqbili iy 24V/25W G< huin 7000 10 70,0
31512300 Cwingb iy 22,8V 50W,G6.35 < | hwwn 19000 10 190,0
31512300 Lwngb wdy 24V 25W, G6.35 QL hwwn 14500 10 145,0
31512320 Pulwnbiphnghn juidy §< hwwn 2400 50 120,0
31512321 Pwlwntinhnghn undy L hwn 4800 50 240,0
31512320 Magbynywnnp < hwtn 75000 20 1500,0
31684400 Hwpnul 1inbin < hwn 300 30 9,0
31684400 Hwpnwy Tutin hnn, < hwn 240 50 12,0
31684400 Hwpnuwy 2unbin hnn, 9< hwtn 500 30 16,0
31211221 Upunwphl wugwinhs 1inbin Q<L huin 30 0,0
31211221 Upunwpht wgwinhs 2unbin G< hwwn 324 30 9,7
31211180 Yuwhingh wlgwinhs < | huw 150 20 3,0
39713510 Upnniyh sbipdwjht wigwnhs G< hww 1500 15 22,5
31211221 £ tnwpuwignighsh wligwnps 1 inkin Q< hwwn 500 50 25,0
31211221 £ nwpwignighsh wigwinps 2 inbin < hwn 700 50 35,0
31211180 Uduindwin wigwnhs wlhs 220V 16A q< hwwn 510 20 10,2
31211181 Ugwndwin wgwnhs wifhs 220V 254 9L hwn 480 10 4,8
31211182 Udwnndwn wlpwinhs wifhs 220V 324 < hwn 480 10 4.8
31211340 Znuwliph Ywnguidnphs 220V-110V 500VA %< | humn 12000 3 36,0
39715200 E| mwpuwgnighsh jnunny QL hwin 22200 15 333,0
39715200 k| wwpuwgnighsh thsnip < huwn 5000 10 50,0
42211140 Funhwlngwjht unwpwt Ubpnpynn 4nbin wywll < hunn 130000 2 260,0
39715100 Elbynpuljwl nbu 9L huwn 0 4 0,0
44423680 Ep jwph Swypwlwy 1,5 < hwwn 5 200 1,0
44423680 L pwph dwypwlwy 2,5 G< hwwn 5 201 1,0
44423680 B jwph dwinwljuy 4 < hwwn 5 202 1,0
44423680 b \wph duypwlw 6 < hwwn 10 200 2,0
44423680 B qwph dwjpwlwy 10 L hwwn 15 200 3,0
31341200 k| jwinh Yduhl 1,5 < | hwn 12 100 12
31341200 By jwph Yibduply 2,5 A< hwwn 15 100 1,5
31341200 &y i Ygbduhl 4 < | hwin 20 100 2,0
31341200 £ qwph Ybduply 6 e hwn 30 100 3,0
31331280 Hwpixi,5 §< dbnp 33 200 18,6
31331280 Ejwp1x25 G< ubnp 150 200 30,0




31331270 Eljwp2x1,5 9L dbnp 135 200 27,0
31331280 Ejwp2x25 9L dbwnp 190 300 57,0
31331290 Ejjup2x4 < dtiinp 366 200 73,2
31331280 B pwp 3x2,5 < ubinp 480 200 96,0
31331280 B jwp 3x4 q< ubinp 844 100 84,4
31685000 Eplwpwgdwl hwnnpnuiwph qfuply 3 wnkin < hwtn 630 40 25,2
31685000 Enbwpwgdul hwnnprugwph gyfupl 4 nbn < hwwn 870 10 8,7
31651400 Utiynwihs duuudb A | hwm 150 300 450
44423671 Gnppt 16 Q< dbwp 51 200 10,2
44423671 Sndpb P20 G< dbnp 57 200 11,4
31686100 Gnwuhl hnnuigdwl Yntwnnipng < hwn 180 200 36,0
31211221 Swnddwl inyhs (qunshly) 220V 10A BAS hwin 2480 5 12,4
31211221 bninn inhs 220V 16A Q< hww 1550 5 7.8
39714200 Onnpuiljhs EUS | hwn | 140000 1 140,0
39714200 Onnpuwiljhs EUS [ hwwn | 200000 4 800,0
39714200 Onnpulhs [nila) hunn 400000 1 400,0
39714200 Onnpuyhs Lus hwin 300000 1 300,0
32551160 Lhnwunubp EUs huwn 12000 14 168,0
39714200 Onnpuwlhy uu hwn 270000 1 270,0
33941400 Uwngupwlibip uu huwin 180000 2 360,0
42941190 Onwpwipahs kjbljnpuluwt uu hwn 37500 2 75,0
31711380 Blilinpniwqtibuwlwt Gunyp Uu hwin 15000 2 30,0
31442100 Ynunwlhs dwpunlyngubip uu hwin 2500 30 75,0
42111230 Hnudbipghnt pwipdhs/ dninnn uu huwwn 8500 10 85,0
31711200 Uphbunwlwb suswiywpuwinh dwpinling Ul hwwn 180000 1 180,0
Cunwdblip 11026,6
JdunsLphL
9132200 Pught, nbgniywn 9< fhwp 510 16000 8160,00
9132201 Ptught, nbgnyjwn uu lhuip 510 1600 816,0
9134200 Hhabijwjht Jwnbihp, wiwnuht <L lhtnp 0 6000 0,00
9134200 Thabijwihl Jwnbihp, wdwnwiht < thwp 540 2000 1080,00
Clnudby 10056,0
U4SNUGLLLULEMh MUKEUSUUUUGT
31421100 Uwpunlyng wyinndbipbitiwh Eus huwin 40000 1 40,0
31421100 Uwpwinlyng wyunibpbtiugh uu hun 40000 5 200,0
09211100 Luwjninbp uu [hip 1500 23 34,5
34351200 Uywnndbipbwtibph wlihyubp fwdwnuhty EUS | hwwn 30000 4 120,0
34351200 Ugunndtipbwtitiph wihyubp /&dtnwht/ EUB hwwn 30000 4 120,0
Cunwikup 514,5
u3qLINrouyUL L3NKBGLN
24441100 Ugnunwiht wywpwpuwljnye uu g 250 50 12,5
44921200 Yhn Uu ['Te 200 30 6,0
33691147 (Bnwbynipbip/pniiwphiblwn Ul \hip 13000 7 91,0
Cunuiibp 109,5
46PULULSLNTULUL GNh3e
37421171 Uwpquwl qunwly 55ud EUS | hwwn 4000 1 4
3742171 Uwpquwl qunwl 65ud [xa) hwin 6000 1 6
3742171 Uwpguwl qunwl 75ud EUs hwwn 6500 1 6,5
37421210 Huwuwly EUs hwwn 13000 1 13
37421210 fotip pupd/hbbwpwpa EUR hwwn 7000 1 7
38621200 Suwybijp EUs hwin 50000 1 50
37421210 2niguithuwn EUs hwun 105000 1 105
44423200 Uuwnh6wu Eus hwwn 20000 1 20
37421210 “Ywugliwy tus hwwn 87000 1 87
37421100 Oppnwbinhy gnpg tus hunn 30000 1 30
37451840 Duitipng 0,24q LUS | hwwn 1500 2 3
37451840 Owlpng 0,5q EUs hwtn 1700 2 34
37451840 Owlpng l4q [xVla} hunn 2000 2 4




37451840 Owlpng 24q. tus huin 2500 2 5
37451840 Dwlpng 5hg Euns hwn 4500 2 9
37421210 Euywunbp nuunwlh 304g EUn hwin 4000 1 4
37421210 Fuyuwinbip quuywbiwlng 504q EUS huwn 6000 1 6
37421161 Fuwwunbip dwuwybu 2080*134, 504 EUB hwin 2000 1 2
37421161 Euwwtnbp dwwwibl 2080*19*4, 544 Lus hwn 2000 1 2
37431340 Uwpgdwl hwnbjubph hwywpuidnt Eus hwn 16500 1 16,5
33191200 [Ftipwulinhl priddwl ubinu EUs huwwn 120000 1 120
37421210 Uinwghntwp hadwuhy (1) hwin 100000 1 100
42131130 Swp thwpbrp EUs hwin 5000 1 5
42131130 Uwnp thwpbp LUS hwin 2000 1 2
33151330 Lpn-dywluwht unpinyuwinnp EUS hwn 20000 1 20,0
33141186 Lwhiwpuwglh hbtwl Eus huwin 7000 1 7
33141187 Luywly [=¥1a) hwwn 15000 1 15
37521140 Puint ubinwuh fuwn/ghunbihptibiph wpynhl Uu hunn 5700 2 1.4
37521140 fanpt ubnwuh quipqugting fuwn/phy/pwiwy uu hwn 2300 1 2,3
37521140 | fenpb ubnuith quingugnn fuwn/Undnpnud bup duwsty | UU hwwn 4600 1 4,6
37521140 Auhlubp fuwn dwqlpung UU | hum 4500 2 9
37521140 Phah prpn UU_ | hwm 4500 1 45
37521140 Swiuinwyubp hwdwnpdwl fuwn uu hwwn 1100 8 8.8
37521120 Pugq uu hww 900 5 4,5
37521120 Suhp wybinpnp ubnubih fuwn uu hwwn 2800 3 8,4
37521120 2wnququnn fuwn gnygbipny thwg uu hwwn 1400 2 2,8
37451670 Upgbjw6wlwwuwnh uwunhl Ul huwwn 1500 4 6
37521120 Ywnnignnuiljwt ubnuh fuwntip uu hwwn 3000 2 6
37521140 <bphwpeh pwwnpnt gpplip Uu hwwn 2800 4 1.2
37311560 Luhindnt Uu hwwn 1500 2 3
37311440 Cppehwpinu uu hwwn 1100 2 2,2
37451290 Gunwlubp uu huwwn 3000 5 15
Cunwidbup 7521
Uuchiusuteutr
45231119 Shiuph dwutilh Jbpwinpnguwt wuwnwtiptibp <Py npwd | 163160700 1 163160,7
"hubph, WwaonthwluEpp T hwpwihg pununpfsuGph
45421110 wbnuwnpns, hudwuwpwionnu Ul nnwd 997500 1 997,5
45331113 AL ;‘:ﬁ‘:ﬂ:‘mnm MR UL | npwd | 166000 i 166.0
Uuwltplinipw|hl wifutnwipbbin fubwpwnny
45231185 Guibwyuphbbiph hudwn uu npwd 300000 1 300,0
T Zhnw"wr:tl:u“‘:'nmﬁwmwmw MIUREPR T e | npwa | 1332000 1 1332,9
(1WAt Gyl pUpwghl JEpwhnpngnio [

45251167 2undhsh jninh thfuwphtinug 9< npwd [ 1866540 1 1866,5
45311126 Ulnignn onuidwiniuwihl a3h wiiglywgiuls wofuwunw < npwyd 3960000 1 3960,0
Cunwdbup 171783,6
DUMISNR@3NRLLEN
79821170 Swwgpwlul b wnwpdwl Swnwnipgnitutp < hunn 3659000 1 3659,0
79821169 Swwgnpuiut b wnwpdwl dwnwjnipgniilibp uu hwwn 365000 1 365,0
79821169 Suyjwgpulwl b wnwpdwl Swnwynieinittbp [=¥ta) hwun 1300000 1 1300,0
79821170 Swwgpuihwt b wnwpdwl Swnwnyeiniibp uu hwuwn 85000 1 85,0
90521320 <Pilunubrgushl uihoRlbrh 9< | hwn | 24840000 | 1 24840,0

hwywpwapnul,thnhuiwnpnud, ngtiswgnud

71351540 Shfuthywlwu hulnnnyejwl Swnwynipynitibip <L npwd 770000 1 770,0
71351540 Stjubihywluis hulnnniypwl Swnwynipinitbp K npwd 90000 1 90,0

50111130 Ujinnitipbuwltiph Jbpwinpngdut Swinuynueniuubp < npwd | 4000000 1 4000,0
79211150 Uninhinnpuiljwt Swnwjniginiu < hwin 1440000 1 1440,0
71351280 Gplpwpwliuljwl dwnwjnipiniu < npwd 1500000 i 1500,0
79221100 Cwplwiht funphpwunywlwt Swnwnyzjnittp 9L npwd | 1000000 1 1000,0
63521200 Plintibiph hnfuwnpdwt Swnwynieind tus npuid 600000 1 600,0




79411140 | Uwpnlwht nbunipubiph Ywnwwpdwl Swawnyaniu uu npwd 990000 1 990.0
79211210 Cuuywhwlwl Yapwhulnnnigniu uu npwd 9390000 1 990,0
79111100 Ppwywpwtiwlwl dwnunipjnitttp uu npwd | 1000000 1 1000,0
75111200 Opbiunpuwljwt Swnwjnipniu uu npwd 990000 1 990,0
32411130 Cuwdwguwg Ul hwn 936000 1 936,0
32411130 Cwdwgwlig uu huwin 60000 1 60,0
65311100 BlEhupwlwlnueiwl pwotunu uu npwd | 85640000 1 85640,0
65211100 Swah pwofunw uu npwd | 17700000 1 17700,0
65111100 hudbiiniu 9ph puwstunud uu npwd | 12000000 1 12000,0
64211120 Uhgpwnwpuwjhl htinwfunuwht Swnwinyziniutibin uu npwd 1170000 1 1170,0
90511120 “ktgwnuiht wnph hwiwpwgpdwt Swnwynipiniiibp uu npwyd 2700000 1 2700,0
so421100 | "Il vuinptiph dEpubinang it T wwhupbidut [ npwd | 6000000 1 6000,0
Swnwnipntuubp
Uuwnnnbiph Japwunpngdwl dwnwnip)nittn’

111 )
AN Ubipwnjuy dninwdnud b hwwuwnpwlonnw l s G000 ! s
50111180 Uduindtipbtiwtibph iwgdwt dwnwjnyjnititibp Ul npwy 100000 1 100,0
50851100 “whnyph Ybpwnpngdwl Swnwjnipjnititibn Uu hwn 980000 1 980,0
45511100 Ugunnwowmwpulh Swnwjnyaini Uu hwun 100000 1 100,0
50751100 Hbpbiwyubiph Unpnquiwt dwnwjnipgnit Ul huwitn 600000 | 600,0
50751100 Hnbuliubph thapuipUlinieyw, uuuuwntn Uu | hwe | 290000 i 290,0

wtuwlwgdh Ybpwwwnnwuwnnud
50311240 Munglabuhuwling, uwppbnh YBpuwlnpngduli UU | hwn | 990000 1 990,0
Sdwnwinuainiuubip
72212300 Yuwypbinh wpnhwlwliwgiwl dwnwjnye)niu uu hwwn 884000 1 884,0
d
724110 | RRREnul hupnupwinnignLUBRh nenwnpdil UU | hun | 904000 1 904,0
Swnwinpni
79521100 Nuwbbhtwhwldwy Swnwjnyeiniu uu hwwn 750000 1 750,0
50531150 “Gwquiht uwppbiph wWwhywbdwy Swnw nipiniu Uu hwuwn 300000 1 300,0
90921300 Unutunutinh ntd wuypwph Swnwjnipiniuubp uu hwwn 564000 1 564,0
90921200 Yuwuwinnitiph gt wwjpwph dwnwnipnit uu hwwn 50000 1 50,0
79341100 Snjuignuihti Swnwynieiniu uu hwn 700000 1 700,0
Cuwindhsubipny thnfuwnpudhengubnh wiywhndugpiwt &

51 '
66511180 NS ol uu nnwd 167000 1 167,0
92421100 "etmebnul huynwpupnipinbbnh wnuwgndul UU | npws | 956000 1 956,0

Swnwinyainit
50341500 Uuunwlgnijejwt mbuw[uggqsbbnh uwwuwpynut / UOU- Ul s 180000 1 180.0
64111200 | Pnunwjhts Swnwynyg)niuubp’ Yuiywd bwdwlutiph hbwn uu nnud 150000 1 150,0
79951100 Uhgngwnnuftbiph hbin Yuiyywé Swinwinipgnitiiip Uu npwd 994000 1 994,0
50311300 | <ubhs - mnwdwnlnushu "b‘z‘:‘h":’“b"h bbbt 1 | ews | 220000 1 220,0
ULy LUy nu
66131100 Undtiorystinh htun Yuiuydw dhglinprnipyu UU | npwd | 72000 1 72,0
Swnwinyantl
programming services of systems and user software
7221100 | /hwdwlwpgbiph b ogunwgnpdnnh dnwgnbiph dowldwy uu npwd | 3390000 1 3390,0
dw -
programming services of systems and user software
/hwdwlwnpgbiph U oguiwgnpdnnh dpuigptiph dpwldwl
Jd | 11500000 1 11500,0
g Swnwynyspntibp/biblinpntiwght wnnnowwwhwlwy UR L =0
hwiwlwpgh uwwuwpynw-Updbn
75241100 Nunhlutniayul Swnwnipnitlbinh / rUpwlnpEph Uu s 600000 ’ 600.0
wyblioniw wwhwwunipini
75241200 Nuinpywilinueiwl dwnuynipjniitip Uu npwd 996000 1 996,0
B5tat40 | FOwlwl wenpunnnphulnh Ynndhg duanigdnn [ npwd | 900000 1 900,0
Swnwinysinil
71631110 Uwippliph unnigdwl dwnwjnuginiitibin / uwnp. nbfu. uu npwd 850000 | 850,0
unnignud, nnquswithnu b swihwapnud
gsti2d0 |  PoZwalush bhdtuwplbph nndng dusamginn UU | npwd | 25137000 | 1 | 251370

Swinwinieiniy/ U hopnidhhiliwplw htit Swnwinuainit




50111130 Udwndbpbuwubiph Ybpwunpngiwu dwnwjnipiniuutip uu hwwn 100000 1 100,0
63721180 Cwpdwlw opjiljwubph dnuppenphtquiht/ bwyhqughnt uu R 6000 10 60.0
Swnwinyaint
44423300 Ponuwinfuwnpnu uu npwd 100000 1 100,0
50531110 Qtinnigdwt Ywpuwih Yepwunpngnul uu npwd 160000 1 160,0
45251167 [dpYwdup Ywjwuh Ybpwlnpngdwl Swnwjnyajnit uu npwd 520000 1 520,0
63521200 Phntbiph thajuwnpiwt Swnwjniyeintu uu npwd 990000 1 990,0
Sujhsh épwgnuyht ppnyejnititbinh Ybpwgudwl
48981700 30000 1 30,0
dpwapuwihl uwwuwpbnud UL | e
71311180 Lwhiwgdwuwhuwhwoywiht thwunwpnptiph Yugdnd uu npwd 560000 1 560,0
64235180 | <bnnwuwnwhwnnpnnulutiph hbnwpdwydwy dwnwymenu | UU hwwn 980000 1 980,0
71251100 Quithwgpnipintl, gdwgpbph ugdnud Uu npuid 120000 1 120,0
71251100 Ghnnbighwlwt dwnwnipniu uu npwd 300000 1 300,0
98391200 Bplwdtiught hwdwlwpgh dnbunwdnd uu npwd 898000 1 898,0
Elyinpwlywt uwppbiph, uwppwynpnuiutiph
SR Ubpwunpnadw b wwhuwwtidwl Swnuwnigniutiip oLy il S ! 0,0
50531140 Lwhwgsh thnpdwpliinipjuli Swnwjnipnit Uy npwd 40000 1 40,0
71531100 Chuphiph wbfutihwlwl Jhéwlyh nunwbwuppnipjut Ul i 750000 1 750,0
Swnwinueiniu
85311210 hunphpnwnynipjwt dwnwnyziniu uu nnwd 990000 1 990,0
63521200 PbnUbph thnjuwnpdwt dwnwinyaniu uu nnwd 600000 1 600,0
50221240 Gnuwlgdwl dwnwjnipnit Uy hwn 50000 1 50,0
79991140 Nuwpwlwgptiph hufnnnipjut Swnwnyajniu Ul hwwn 980000 1 980,0
72311300 Uwnwtnwpubiph dpwldwl dwnwinyejniutbp uu hwn 980000 1 980,0
71251100 Quuhwgpnipjwl Swnwnip|niu uu hwin 400000 1 400,0
Cunwdbup 233337,0




